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Principles of Accounting (ovjective Type)
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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A.B,C & D to each

question are given.Which answer you consider correct. fill the corresponding circle

'

question with Marker or pen ink on the answer sheet provided.

A.B,C or D given in front of each

2 —1. Maximum number of members in private company are: -Q;Lx.sb.ba:y;uy;ﬁd{qfr{ 13
(A) 10 s B) 2 » (€) 50 vyl (D) 20 2
2. Consignee is a/an: -ty 2
(A) customer bf ¥ (B) seller uﬂ&.&;) (C) owner fL (D) an agent Jus
3. Consignor's account is: —etn ¥ )y 3
(A) personal account .,..L?Lf." (B) real account .T«L?d?
(C) nominal account ._*.:::s'réj ¥ (D) None of these uftjf;ui‘cﬂ

4. Company is registered under.

(A) +1975 A.D (B) 1984 A.D
5. Depletionis calculated enly on:

(A) forest o 2 (B) Truck s

6. Debentures are:

»:.flgﬁE'IJ;P
=2l )b
7. Partnership is registered under ordinance.

(A) 1984 A.D (B) +1932AD
8. Depreciation on plant, will be debited to:

{C) (1932AD

(C) machinery

(A) fixed assets

(B)
(D)

current assets
(C) long term liability short term liability

(C) +1925AD

(A) plant LAl (B) cash (i (C) depreciation L;_ry;
9. Subscription received in advance s a:

(A) asset 2t (B) expense .7 (C) liability ($/sns
10. Debenture holders are: .

(A) owners ¥l (B) debtors A4 (C) customers ¥

11. Objective of partnership is:

(A) to earn profit tLI'C’i" (B) forgovt. help &Jb»u"’:g (C) welfare szt 15
12. In banking partnership members are:

(A) 2 (B) 4 s
13.~ Debentures may be issued at:

(A} premimum .;('3I:.f (B) Discount ..;J;f'
14. Capital can be find by:
" (A) balance sheet

©) 10 w
(C) parvale yedif

it
(C) statement of affairs  wfbloepsistyS
15. Depreciation can be treated as:

(A) loss L (B) asset

(B) cashbook ¥

(D) income statement

514

(C) expense
675-012-A-T%

Y

:ﬁj;@;.}q_(jﬁiﬁﬂﬁr 4
(D) »2001 AD
_%Jg&-}”dfd_f-}.by 5
(D) furniture ..;/.:?f/;
~“Jtln=k? 6

= b2ESA

..:*.«L%JJJQG

U Tyhee Qs prae 7

(D) +1962 A.D
-ipjfu‘—-::.j?dfﬁ&.r){ﬁlb 8

(D) loss (i
b g

al

..L,_r}z_mmﬁ 10
(D) None of these e
_.:'_b':fﬁ’s’:fﬁ} A1

(D) revenue

(D) allthese (I
~Ut sl o K 516 12
@) 1

~SELL ek 13
(D) allthese ,¢Uiui

cj.&ﬂxfﬁf _
:;.g..f_. t'bbf—:(f:ﬂ’ .15

(D) revenue  wuT



Inter - (Part-ll) -A-2016

Roll No. P AT I (NEW PATTERN) Subject Code (6| 0 |7 | 0
Principles of Accou t‘seémnfsgymyﬁ%m“& S (20 d;l;u:awyfl
Marks: 60 Time: 2:10 Hours &% 2:10:u5 60 :
Section ~I 2x18=36 d.‘if..h
2. Write short answers of any six parts from the following., 2x6=12 -L{/er':,mﬁ?f_,lmgadfawlbm 2
i. Define statement of affairs, S bt
ii. Define the term margin, S AT I
ii. Write any two disadvantages of single entry system. -q&iatuﬂméf&ﬁ"dﬁrﬁ i
iv. What is meant by subscription? el pVe otz v
V. Define non-trading concerns. _;_,rfh..a-/"‘Juyhlé;@ﬁ v
vi. What is receipts and payment account? '?L-_J /lf'f-.-_f lld s sld” Vi
vii. What is Hororarium? ut 2L ( Honorarium) bt i
viii. Define lagacy. - _[,{/..yﬁ(f:ﬁb: Viii
iX. What is capital fund? St ix
3. Write short answers of any six parts from the following. 2x6=12 _L{)}fmyﬁﬁ?ﬁpm@:ﬂ)&wd}@a 3
I. What is del-credere commission? ?q_bﬁ_b(fﬁff’é/ufi i
ii. What is account sales. SR— Sl sl i
iii. What is abnormal loss. S brrlSlifs®F i
iv. What is meant by consignor? T.;':_:Lf[fQ; ﬁ-L—f Jdv
v. What is partnership deed? _ - -E".‘:,t'ﬁ%{:bﬁﬁ(!} A%
vi. Define sleeping partner. - SIS i
vii. Who is senior pariner? | Se_btrehlibo /2 i
viii. How sacrificing ratio is calculated? LSS AR i
ix. What is realization account? Sl Ve LA3KIR 21 i
4, Write shott answers of any six parts from the following. 2x6=12 -Qéfaylﬁf?ﬁ.ffzq;:.@fa.wdjbﬂ 4
i. Define Private Limited Company, -.LJ_“/’-EJ,?"-JJ{#&JQEI{ i
ii. What is limited liability in a company? _ T;;_:I/_L»"c_dzhr_juﬁuiﬁ{ il
iii. What is meant by dissolution of acompany? o ?.;..sy_,u':.df’" :.fl.f"‘r il
v. What is meant by incorporation of a J.S. company? Sl W Py IS b2 iy
v. Define depreciation. LI BP86w S v
vi. Define depletion. ..l,ff._gﬁfwﬁ—dr"j Vi
vii. Define amortization. SIS i
viii. Define dividend of a J.S. company. SIS ISP L AL i
ix. What is straight line method of depreciation? S bl Sy s 266} i
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Section -II r.u,.,.‘b
Note: Attempt any three questions from the following.  8x3=24 | -(,_I:/J’ o= Ul Lf :;.Jf:;.gtdjﬁu: ST IR
5. Mr.Kareem maintains his books under single entry system. .:L:zls’lgii..uf.q.t'ﬁpcf.ﬁﬁ" d}iﬁ"ufli’@ Sk

He started his business on 1%! July, 2011 with capital Wyl 2L o 1/800001=42011 002 F

Rs. 80000/=. His capital on 30" June, 2012 was Rs.110000/=. Vi Une_u1 10000/=_1 ~ 61120124230

He draws Rs. 5000/= during the year and invested Rs.8000/= HJd;K;L/J%uBDUD!:;ﬂJ ug IJA%JJ5UE|0."=:;_
Required: Prepare statement of profit & loss for the period b’uuﬁ:abﬂb’.afw:iﬁr"" U}?!;F"‘.:.T.Jﬁ’
under single entry system, L{;CL‘-'ul:*f

6. Mufti Radio House of Faisalabad consigned 100 radios to Karim of s21 Oﬂfﬁf#ﬂ";!wmﬂé.s_LU‘%‘?H&:&E‘ G
Lahore at Rs.150/= each. He paid Rs. 300/= as freight and packing. S50/ (b et s fos,)
The consignee is entitled to commission at 10% of gross sale {&:ﬁff L ,_Lf@ﬁis’_ﬁ_f';ﬂy/ﬁ_gf.;_uaunh_

proceeds. Consignee paid Rs.1150/= as all inclusive expenses and J_f L..rﬂk%f'{_.,.u‘l 150:’=L».’;.5-J-1:.Jiﬁ75’m10
also sent a draft of Rs. 10,000/= as an advance to consignor. Karim gé..rrV'Lrﬁ):_l::.:_:ujhéi..ﬂbm;_u10,DDU!=

sold all the radios at Rs. 200/= each and submitted a final cheque Jf&iﬂaléﬁ:f;ﬁ,aﬁc;.fL?Lgé;f}.;.u.”.ﬂﬁ#

with account sale. LB ¥ ﬁu;l::‘;fb-&
Required: pass Journal entries and prepare necessary -pfb:%duﬁu.‘.u.flﬁf..ﬁ L;:fuf’b:dfld)z:ﬁ.a“'

accounts in the book of the consignor.

7. A and B are two partners sharing profits and losses in the ratio r‘-j’ b2 1 wuﬁ:gﬂlpg.?_.):yub’ﬁqﬁﬁﬂfh ¥ §

of 2: 1. They agreed to admit C into partnership, who pays J?UEE_.H‘J}; La‘{_;l,;;{(‘.{ s C ot S
Rs.100,000/= as capital and Rs.20000/= for goodwill. The new -c,-.,l:'ULJ;ﬁ;;JZOGOO,’mIfL /Jﬁi’aru‘loo.oﬂﬂh
ratios on the admission of new partner will be 2:1:1. ¥2:1:1 qﬁ'ﬁuuﬁjzﬁ'ﬂiiﬁ&_{ e
Required: Pass Journal entries from above transactions. _qu E-;;:g,td)?.fuurﬂ LE‘,JJJ-:;:.:JW

8. Habib Ltd. Company offered 1000 shares to public at par. S hﬂ.égﬁiiﬁsﬁﬁﬂffu‘i;ﬁuﬁi.&rﬂ# 8
Face value of share is Rs.100/=. Public applied for 1300 s oS80 d éﬂfafé.r'ff_ﬁ:.%.ufjjd b
shares. Excess money was refunded and shares were allotted. _éé.:f.:,uu“’frrﬁ;ldﬁ;/ﬁbﬁﬂj
Required: Pass Journal entries and prepare company's Balance ﬁfﬁJGﬂufatgbﬁlbt{tju,:?ﬁ’
sheet on 31 Dec. 2012 A.D 52012 4531

9. Aslam purchased machinery for Rs.5,00,000/= and decided to provide gf kfiﬂéufdj_rﬁd/;:f’gf%.us,UU,UOD.f:.LH/I 9
depreciation at 9% P.A. on diminishing balance method ' -Jﬁ;ﬂbg%ﬁrﬁ.—;ﬂ‘g )cﬁ_@tigé_x
Draw machinery AIC for four year. -q_”h;b-fb’ﬁ,z‘-"‘ﬂ_.ﬁdwl:.:yﬂb
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Paper Code 4 17101

IROH No. | o L | (OLD PATTERN)

« e . Session;2011-2013
Principles of Accounting (objective Type)
Marks: 20 Time: 30 Minutes &2#30:5%
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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each

-

question with Marker or pen ink on the answer sheet provided.
1. Single entry system is adopted by:

(A) company oﬁ-r (B) partnershipd;h:f[;" (C) government e

2. Non-trading institutions prepare. | _LJ}L/G_L?L.AJIJJI;‘"/{'
(A) trading account :H/E};E (B) profit and loss account = b’uhﬁsg
(C) manufacturing account ;w’dmr{; | (D) income and expenditu:re account ;H:g,ééﬂ
3. Cash in hand can be find by preparing. ! -Lﬁgbgé)&%w :
" (A) cash account sl (B) profitand loss account a2 A
(C) sales account  slfesy ) ' (D) purchase account | =W/
. 4 ReciEpié and payments accounts is prepared to Know. -.‘Ltwgi‘iang;ufug;ﬁumruym
(A) profit & (B) loss @l (C) income T (D) cash in hand L&

o. Capital fund is shown on the side.
(A) assets b2t (B) liabilities Ul.bi (C) top £
6. Account sale is remitted to consignor by.

(A) customer (¥  (B) debtor i/ (C) consignee JiJ7 (D) creditor s

7. Del-credere is a word. -« £J( Del- credere}:é/idj ;
(A) French %1} (B) Latin  (FU (C) German 7 (D) English (2.4

8. Discount on issue of shares being a loss of: ui;.t'ﬁbf.wr{(d)lgf;a;f ;
(A) asset Kb (B) capital K., (C) expenditure ¥&7 (D) profit ¥

9. Debentures are: “Jtln= ks
(A) assets «=bitl  (B) capital .l (C) liabilities ~ Ul/bws (D) dividend .~

10. Depreciation of assets is due to: -ﬁLaﬁejJ&f/"{&%ﬁW
(A) decrese in capital u‘:;:,:,L/ (B) wear & tear of assets JLgJL-fJ:..I.g,&H
(C) prices fluctuation ibaf__,?;tr!wu;f (D) decrease in goods JLJ::*L.:"F

11. The consignee is also called: —r;'-t'Us‘C..JU'?
(A) agent LI (B) debtor b/ (©) creditor (D) owner M

= 12. A profit distributed among shareholders is called: e UG s

(A) income T (B) gift ¥ (C) dividend .~ (D) remuneration sl

13. Goodwill is: | e bl
(A) tangible (i, (B) intangible 3.7 | (C) wasting LifL (D) fictitious (%

14. Maximum number of partners in banking business i;s: _.—.5.Jmuﬁupau:_l_,}&bf,-’fw;t,us’.{idﬁi
(A) 10 (B) 20 ~ (C) 30 (D) 50

15. Legacy is generally treated as;

(A) expense &7 (B) capitalized (k:(sl (C) income L}JT

16. In the absence of agreement the rate of interest on capital is: —%GKD}{;&Y{:{. /deﬁ:f/f&*bﬂ

(A) ~UL-3 % p.a (B) <U-4%p.a (C) <UL-5%p.a
17. Which are intangible assets?
(A) goodwill FL (B) trademark JlL/ (C) copyrights J#3¥

e b B LI B
(D) local Govt. yﬁd{a

et A

(D) bottom £

fe bl k.‘.”'fd’/: I.AJT:.; /-‘_‘-J)JL/ .

- Jﬂ)‘r&{;}l’r PRSIV

(D) liability  (S/bsss

(D) ~UL6 % p.a
AR ST
(D) allthese oy

18. Revenues are shown in; U bl b
(A) cash book (Jws3s (B) purchase book s 78 _
(C) balance sheet - L,r.’:d..-fu"!'*' (D) profit & loss account u:;ufuuﬁ,é’
19. Liability of partners in partnership is: ' _c‘-Jﬂdﬂwi&EﬁuhLuEﬁq}
(A) unlimited .uﬁ/;a (B) limited s . (C) open u“’f (D) close & )
20. Maximum numbers in private company are: -.;;:..J_n-upa;.up:w"JuIﬁ{ﬂd@r & .
(A) 10 (B) 20 (C) 50 (D) 100
711-012-A-%
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(OLD PATTERN)

Session; 2011-2013
(Essay Type)

Roll No.

:‘...Jr.é,i.r';ﬂ:gf

Principles of Accounﬁng

Time: 2:30 Hours &5 2:30:%
Section -1 2x25=50
2. Write short answers of any eight parts from the fnlfﬂwing.

Marks: 80

i. What is meant by the term endowment fund?
ii. Define honorarium.
iii. Define surplus fund,
iv. Write names of any two well known non-trading concerns.
v, Define subscription.
vi. Define single entry system of book keeping.
vii. How many-statements are prepared under single entry system?
Write their names.
viii. Define fresh capital.
" ix. Define drawings.
x. Make complete sketch of statement of profit and loss.
xi. Define the term profit,
xii. Why single entry system is not suitable for large scale business?

3. Write short answers of any eight parts from the following.
i. What is account sale?

Subject Code | 4 | 7

0

ii. What is Del-credere commission?

iii. How the value of unsold stock is calculated in consignment?

iv. What is abnormal loss?

v. What are direct expenses?

vi. What will be the journal entry for closing stock in the books of consignor?
vii. Who is sleeping partner?
viii. What is revaluation account?

ix. What is current account of partners?

x. Who is senior partner?

xi. What is Garner & Murray rule?

xii. What is realisation account?

4. Write short answers of any nine parts from the following. 2x9=18
i. Define the charted company.
ii. Describe the different kinds of registered company?
ii. What is registered company?
iv. What is unlimited company?
v. Define subsidiary company.
vi. What is meant by Modarba company?
vii. Who is under writer?
viii. Define the preliminary expenses of a company.
ix. What is subscribed capital?
x. Define fixed assets.
xi. Write down two advantages of annuity method.
xii. Define intangible assets.

xiii. What is fluctuation of assets?
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Section -iI '3 D

Note: Attempt any three questions from the following.  10x3=30 i) Sy ‘,Lr ;.-J)(::.pgﬂd_'j'@ﬂ Wy
5. Hadi traders keeps his books on single entry syster. His capital on  +201 16;;2'{ bl bhatl i SRkt 28, 5
18! January 2011 was Rs.40,000/=. During the year he borrows ¢1/10,000/=LJiJbglssee3,40,000/=, 7o

Rs.10.000/= on 1% April 2011 at 5% p.a. (intrest not yet paid). He L2011 S et Sl Py 5%
withdrew Rs.700/= per month for his personal use. His position on 152011 /.431_Lrﬁ#’dw:&uzrmm.-;_,_.,.a?nw=

315t December 2011 was. _e LA
Cash Rs. 5000/=, stock Rs.11000/=, Debtors Rs.6000/=, «&2/8000/=(fyPee3/11000/=S 1 5000/=6 3
Bills payable Rs.5000/=, building Rs.10,000/=, & &1,10,000/=f2hes_2/5000/=( SabiFG
Calculate profit or loss of Hadi Traders on 31% Dec, 2011 _qf?k@uﬂé'.;rtw;zu-i 153164255

6. Qasim consigned 100 cycles to Rahim of Rs.250/= each and paid ;:I.’:_f:;ﬂ!u{ruzsohfbﬁfmDﬂf(-ﬁi.fl? .6
Rs. 1000/= as freight and octroi duty. Rahim sold 80 cycles for Rs.500/= f VBﬂerJ-wﬂd!‘;&ﬂL:l}rd;:ﬂUUDI=
each and after deducting 5% simple commission on sale and 10% gféﬂ.’fﬁ{g}fi_(fx.é.;/&:}%:ﬁmi:f L»f}
delcreder commission on credit sale paid the balance amount to Qasim. _d:ﬁﬂﬁrll,ta,u:rt?E’{Jé:bw:!;éfcjiuf‘ﬁrﬁ:1D;:f
Required: prepare consignment account. -@_hﬁibff.:;f'bﬂ’:..f:lb'

7. Imran and Irfan are partners sharing profit and loss in the raio of bk }ui;@u(@r f/’f.:..wtf 32ub Ll £ T
3:2. They admitted Areeb for 1/4 shares in profit. Areeb paid bty b L LA N KL DY L
Rs.25000/= as capital, Goodwill is valued at two years purchase Eodi 3 AL S 200 4 1/25000/= oz
of three years profit of Rs.5000/=, Rs.8000/= and Rs.8000/= en) [j'-__-g:;ﬂI;.r’F.-JJBDUU,-':J!’.%..UBUUGT%—JJ5ODUI=6’:
Make Journal entries If: :)‘lpfzb:dfllfﬁ

(a) Areeb pays goodwill in cash but withdrawn. -dlﬁufd’ bIF LS ()

(b) Goodwill is raised and written off. VSl (&)

8. A company issued 8% debentures of Rs.100/= each. Give Journal g_,r-f,,;’l:.?u_’a; d;igc.awﬁfsé_h%umm:é_.d{.ﬂ 8
entries in each of the following cases. _u_ff &A,u:FJ 1 IFLI_IHL}:LJ?J!‘J_EE;JJ

(a) The debentures are issued at par and redeemable at par. ﬂtfﬂ{afzhﬁ:éhﬁdﬁtmféfgffolg{.:afzb:icJ_,L:.—ﬁi-? ()

(b) They are issued at a discount of 5% but redeemable at par. -Jﬁ,;:axfxizaC:J,LUﬁl:g;?fiéd;lg{du{ﬂ."su ()

(c) They are issued at a premium of 5% but redeemable at par _Jﬁ,,_«;:,é_gl,;&:J,Lu‘v’hu?z?:afﬁ;g{él?w:&: @)

(d) They are issued at a discount of 4% but are redeemable at a premium of 5%. _Jﬁ{étﬂﬁ:ﬂjﬁ:ugﬂfédz%{ubﬁﬁﬁl (5)

9. On 1 Jan, 2002 Mr. Abid purchased a machinery for Rs 75000/=. 1;.:;?5000:‘=15/=:'31.§'ILJ;&}/):ZUE}ZJ;;—?.. 9
Estimated life of machine is 10 years. After which its scrap value will be JJMLJI_?JMD ) f teibss il
Rs.5000/= only. | oz s/5000/= A o6
Find out the annual depreciation according to fixed instaiment %JJ!U:‘J?:L”LE:)’LQHPEJJUVJ&f}
method & prepare the machinery account for first four years. | _pfflzdﬁjffﬁ/d/?rd{ﬂk

712-012-A-1500




** ‘* 7?:( Inter - (Part-II)-A- 2016

Roll No. e Lot Paper Code 8|1 7(0]|7
Sessions;2012-2014;2013-2015 & 2014-2016
Principles of Accounting (objective Type) ) S L’J}"’ !
Marks: 15 Time: 20 Minutes 220:=% b
A 38012 e W2 et £ 25D 1,0 B AR L iy cg’% b’(}fﬁu:‘if’éfd::f@lﬂiaﬂlrfuﬂ:é;
e SIS S 3hre EUsIED | CBe A sz L
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each

question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

_1.1. The important documents for the formation of joint stock company is/are: _L&?;Iﬁﬁdﬁﬁ‘dﬂﬁgﬁJJ{JfL/f}*’ Al

(A) articles of association d"ﬂylr’" (B) memorandum of association d?ruff
(C) prospectus ¢l (D) allthese v
2. Partnership business is formed under the act of: ifﬁ%tﬁFFJL:;KGrF;' 2
(A) #1940 A.D (B) 1984 A.D (C) #1932 AD (D) #1925 A.D
3. Which partner can manage the affairs of partnership? ?%CﬁL,bui:gﬂbﬂdf;Zaﬁfﬁhﬁbuf 3
(A) active J* (B) honorary iF1  (C) deceased (77 (D) retired 3%
4. Partner receives in partnership: _.:;..t'fd:"ul:,.buﬁ.:.flf 4
(A) fee uf-’ (B) profit Cél:»- (C) dividend r’rj" (D) commission ﬁf
5. Commission is received on consignment by: u:;_b)aﬁffédLJ/ 5
(A) consignor 7 (B) consignee .JiJ7 (C) debtors (i (D) creditor  oI#f/}
6. Consignee debits account for expenses: e tflogid ezt 6
(A) consignor J»  (B) agent =4I (C) debtor A (D) creditor ol f/
7. The basic objective of non-trading concerns is: ,?bﬁﬁﬁ;gm,,m&@f 7
(A) profit Cl’,b» (B) welfare [ (C) commission T (D) allthese vw
8. The members of non-trading concerns pay yearly: _ugz_,ﬁ;:ﬁmr,:.uw/ziumﬂ&_L?,é 8
-- (A} commission vaf (B) interest (C) membership fee uf-"_ﬂ.‘ﬁ/ (D) allthese v
9. Depreciation is recorded in accounting as: _ng_ﬁ;bﬁJu:ﬁiK!fLﬁr) 9
"= (A) expense &7 (B) income (T (C) asset Ak (D) loss oo
10. Depreciation arises due to: _.-;_.qufu?:dir) .10
(A) wear & tear of assets  « JIL = b2k (B) passage of time  #ALL s JL =5,
(C) fall in market value < isfrkse (D) allthese v
11. The system which does not observe the principles of double entry book uf{)ﬁ;uﬁfiébgb{dffdiufu’f‘?; A1
keeping system is called: u.—T;tU#:bng
(A) single entry system (*'/ 63,611 (B) double entry system I;” K365
(C) cash system ﬁz@;ﬁ (D) allthese oy
". 12. Single entry system finds out. _;:_I;-)?Pf"@*-‘fﬁ'“ b
(A) profit B (B) financial worth =>4l (C) cash position =i (D) profit & loss uu‘ﬁjéj
- 13. Cash paid to creditors can be found out to prepare: r&):p‘;:_g?ﬁiftfpl”ﬁblﬁfumﬁjﬁ 3
(A) debtors account =LA (B) creditors account  =UWiS )}
(C) balance sheet ...*.-,_F"J‘J-‘-' (D) trial balance u”ﬂL'JT}
14. Debenture holder receives: ..z‘;.{?fdr"uﬁ 14
(A) dividend  (+* (B) interest s (C) commission * (D) salary ofF
15. The maximum number of members in a private limited company is:  —&-(soldfUsh e sl §F2decfl, 45
(A) 50 (B) 200 (C) 20 (D) 7
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Roll No.

g.fzjﬁ;imi Subject Code | 6 | 0 0 |
.. . Sessjons;2012-2014:2013- 2015&20T-201'6‘ f

Principles of Accounting  (Essay Type) Z151) dJl:uL?Qr’l
60 ./:‘

Time: 2:10 Hours &% 2:10:=%

Marks: 60
Section -1 2x18=36 Jilo , *
) 2. Write short answers of am‘r six parts from the following. 2x6=12 -q),}/’e..;m/f‘&rzugaél;_w d_’jﬁm i l
‘ i. What is net worth method? S Fdpey i
_ii. Define balance sheet. -L,_'_’f...éfﬁd/.:éu"‘-l? i
iii. What is opening capital? S U 0L i
iv. What is closing capital? Sl \ S0 iv
v. What is additional capital? | ?%_J{L/GLH v
vi. What is life membership fee'? ?%guﬂsd/f Vi
vii. What is honorarium? Se it/ il
viii. What is endowment fund? S ibasmkl vii
ix. What is surplus in non-trading organization? e ,r'l.r’f;:'_.uJL /Juhid;b'/ X
3. Write short answers of any six parts from the following. 2x6=12 ..u’f futlf/‘;ﬁpf?wf_dfa.gﬁghbﬂ 3
i. Define chartered company. _ | _J/J/Jdi;/xb i
ii. What is public limited company; ?ﬁ:_dxkfd{,uy_[_f;_, i
ii. Define subsidiary company. _J/Jjﬁgf&f“a ]
iv. Who are the prorﬁnters? : ";_.r.—.'_ru:‘;xﬂ; v
v. Define preliminary expenseé_nf a company. -u’/_d/’gf._,blﬂém.ﬁﬁr Vo
. Vi. Define cuﬁsignment. | -u__‘/hg/’J._JL/ Vi
vii. Define normal losses. S PN i
« Viii. What are direct expenses of cuﬁsignment? ?{_,_r;.?_ﬂy;aj&:}ljw.:ﬁu' Viii
ix. What is overriding commission? ?.;;Jyy’.:.o?{fgrmr X
4. Write short answers of any six parts from the following. 2x6=12 _q&fagmﬁ"&lzugadf:;busm 4
-i. What is meant by firm? eilpler)
_ii. Define active partner. u&.,@(._é_f/"'&h,.bu‘:b’ i
iii. Define the nominal partner. _q)’q:!/}'&!:.h& i
iv. What is meant by partnership deed? ?‘?——_;yg’;.ufb»fﬁ; v
- v. Define goodwill. St S v
_vi. Define the term accumulated depreciation. _Lg/_é!/"'J a&mrﬁf)&f Vi
.Vii. Define the re.;.sidual value, _L,jf.._gi jTJ_-.uEJU’ Vii
viii. What are intangible assets? ?;‘:.:V_If:_..:flg;‘:k‘-furr;/f il
- ix. What are depreciable assets? ?ﬁ.;y_b";a{g,iﬁl:’_h&r} JiX




| Section -IT | (e
Note: Attempt a'ny three questions fr_nm the following. 8x3=24 | | _(,jfd'..:fllbf g,f .;-.:..Jf.:..uf J_'.iﬁw 12y
5. Mr.Aslam sent goods to Ahmed worth Rs,?5b00I= to be sold on :&}_f .:.-5:}{;:[,%1! M’L‘-‘Zer&@».:g;; ;’ﬂ.f” i~ .5
consignment basis. He paid for carriage Rs.3000/= All the goods were ﬂlgﬁdlrlﬁ_ﬁ' l«'{gﬁ;f,l)%.,wfj;c)fi.uf_l;f
sold by consignee in Rs.100000/=.He paid expenses on sales L’JT_Z.: I;Ia;ggfé';{&:}Luf_g&;)w%u
Rs.500/=. He entitled to get 8% commission on sales. - - - 8%:)5*{;.::?:}

Prepare necessary entries in the book of consignor and make consignment alc. -ufl'c?ub’#”%:uf&uﬁ;ﬁuimfﬂf

6. On 1% January 2005 A.D Mr.Saleem purchased machinery costing - U2-21100,000/=2,20058,52F A .6
Rs.100,000/=. It was decided to depreciate it at the rate of 20% on the A 20%5&5@;@J&f};ﬂd¢ﬁdﬁff

diminishing balance method. Show the machinery account for the first four years. _L{JLJ:@:E;F’I@&?’%UV;E-JL%JL
7. Danish and Wagas are partners in the ratio of 5 - 3. They included ST 200L%5 Usfi_ gty oL sl 5:3 FGsl Py 7

Abdullah into the partnership. Abdullah brought Rs.50000/=as /#/15000/= 1. e_2,60000/=E YA
capital and Rs.15000/= as goodwill. The goodwill shall be divided in  LHE.f: L@Jﬁ@tu;;rj,bi.r{ﬁtf{ L_LOs1
old partners. The new profit and loss sharing is 7:4:3 respectively. ‘1 - 743758
Required: Pass Journal entries . ST A S
8. X,Y and Z are partners sharing profit and loss in the ratio of 1:1:2. L/ﬁ%h‘%ﬁa:ﬁJ 11240 sSSP 7YX .8
On January 1* 2008 their capitals were Rs.50000, 75000 and | | AL 20088525
100000 respectively. They earned profit of Rs.87500/= for the Jﬁé&;ftf.;gé;ﬂ00000;:?5000:50,000.,&?;
year. Interest on capital @6% is allowed and Z receives a salary ij.'{.__uB?SUDKJLnLuﬁi.f;_h-p}lg!&rc.cﬁ
of Rs.2000/= per month. ,.;_ﬂ:'afﬁwu;_uzot}m::z_gu’
Required: Prepﬁre profit and loss appropriation account. -pf):P:U/K(F th‘i&.:.f#*

9. Khuram started business on 1% January 2010 with a capital J_’{lf;kfbﬁzguKL%.:JBDDO#L(?:QU“EOU:R{ 9
of Rs.8000/=. On 1% April 2010 he borrowed a sum of Rs.4000/= Ji.gfd’b{;ﬂL».xég,é}ig_m}ﬂﬂﬁ!:é.u‘b';zm0

at 9% P.A. On 31st December 2010 his assets and liabilities | ~Utelsle bkt 2010 #531L
were  "cash Rs.600/= Stock Rs.9400/= Debtors Rs.7100/= H;_JJQ@O#J L & 5,600/=_ "
creditors Rs.4200/=. Khuram withdrew Rs.2000/= for W Jo"e_2,4200/=5 1) ,_,L.Qmuof:uu.-ﬁ
his personal use. | -Llﬁé.l.:.-p:ﬁaud__ l&-2,2000/=L_0.7
Required: Prepare statement of profit and loss of 2010 A.D. -q)?#uma"" £:201 Ub’{'}-:.,.-:ﬁ’
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Roll No. o Jos# s Paper Code 4 171011

Session;2015-2017

Principles of Accounting (objective Type) () d)b..,fl.-?dr"l

Marks: 20 Time: 30 Minutes &2#30:e3 20: 7

L/dlrdlfd b’dffr ¥ h-"".f.,h-'r!(h-'l,?u) J&ia_:DJ:f C,B Ah-"ufjfbé:dirf fq#db’d'fﬁ’f’diﬁu.—u:’ﬁumrru <
-JJ/‘a;LﬁL-Ju’L JAde e  LsED L CBeAszel

NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
_question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
quéstion with Marker or pen ink on the answer sheet provided.

1.1,
« B
3.
4

5.

6.

T

8.

R °

10.

11.

12.

13.

-

14.

15.

16.

17.

18.
19.

20.

Subscription received in advance is called: _;‘:_t'lk*cxgnﬁdﬂﬁ 41
(A) Liability (03 (B) Assets = bz¥I (C) income wul (D) expenses =bl7l
Shareholders of company are called: Gl 2
(A) employees (-4 (B) owners ¥l (C) agents u:‘” & (D) Managers -
Consignor is called: -u{f‘ﬁfﬂ" 7 3
(A) agent I (B) owner {L (C) seller oudless) (D) buyer s
Consignor's account is a: e S8, 4
(A) real account ,L;rd‘“’ (B) personal account ,.,Lalb"' (C) nominal account = [ﬂrd:' (D) None of these U deJur
Credit sale can be obtained by preparing. HJL/ y.,‘fj_ia.,/',’*:b’..;:,’zl.m:f .
(A) Statement of affairs = bl (B) debtor account hxefs=ld

- (C) creditor account Arphosld (D) cash book | uf
Non-trading concerns prepare. _u‘.»:_f bg_;I;Id;Le*/ B
(A) trading account :bf&:lf" (B) profit & loss account l;zfi;,jl.--em’sifJ

(C) manufacturing account =W(§/=s (D) income & expenditure account &34 (9

The maximum number of partners in an ordinary partnership business is: ..r_LBJ’JLu’nJL.r.:..ui.;d/u;xb,.ﬁuc;h;ﬁb( /r'l.c 7§
(A) 10 (B) 20 (C) 50 (D) 40

Depreciation on machinery will be debited to: reasdri 8
(A) machinery account  23K1(§# (B) cash account :JB'B.’FL);'{

(C) depreciation account = ) (D) None of these uﬁﬁfauiul

Specific reserve is created for: -;.;;t'tglgﬂ_l}';:;;;Jf? 9
(A) general purpose & L8k (B) specific purpose 218 o

(C) unknown loss #/ujuﬁr:‘”t (D) known loss ﬁ/uwp“’

Single entry system is generally followed by: _J.Lﬂw!zﬂbrb("/ dﬂf’ 10
(A) small business KL% (B) large business Ls/be %

(C) non-trading concerns g.;i:raﬁé"’/f (D) medium business LKL

Maximum number of members in a Public Limited Company is: -ﬁ_d!a:LJLuJLJJrﬁJU/u:LSJ:E' i |
(A) 50 (B) 10 (C) 20 (D) unlimited 40
Debentures represent. o ) gLl bk 12
(A) short-term liability  Azls(u) (B) long-term liabilty  =l2isdait#

(C) short-term assets n:el?ﬁlf'r(j.i-();g (D) fixed assets »-"-—Lgﬁb"lc}f)

The difference between assets and liabilities represent. _;;‘LFE‘J’GLZFJ/;K:JW:;:I:.:E?L' 13
(A) special subscription uﬁ@U‘}"’;‘ (B) legacy S =,y (C) capital fund & e (D) subscription 42
Good will is an: _+{v6;g;;ﬁ 14
(A) tangible assets a‘ﬁb‘IJr" (B) intangible assets ...J.o,;l:'-l'u//;; _

(C) current assets :-«lf,.‘:’fld;.;’ (D) current liability ._.aL:'Lad;;
Under straight line, amount of depreciation. _H;JJ v Pl 3 L0 A5
(A) increases every year ;:.u"’ s (B) decreases every year :ﬁ:.drﬂ)b;

(C) remains constant every year .—;.JJJ’"‘ JL»;;- (D) None of these ;J.‘.?'Jf:_.u!uﬂ
External cause/causes of depreciation is/are: B ~ - .P:G:;.d/ djf/ 16
(A) obsolescence (e (B) efflux of time W) (C) accident <=kl (D) allthese (U

The valuation of goodwill arises on: ._r_df-....ujf"LL.AJJ; Lk 17
(A) admission of a new partner =3 622 (B) retirement of or death of partnern..,[,:t..-t-f;b;d’ fs 20

(C) dissolution of firm 76 ¢/ (D) allthese /ol

Partnership is formed under the act of: .,JZJUI;:_.H;HJFE}I,HH’G(L? .18
(A) 1984 (B) 1932 (C) 1912 (D) 1962
The process of writing off intangible assets is called: _;:.ru/d’ K/ 7 :Lbﬁl&!ur’/ 19
(A) fluctuation 3l-2Z.6! (B) depreciation J_,,,-/ (C) Depletion uﬁ-‘-J*f":* (D) amortization u’ AT
If the closing capital is Rs.30,000/= and opening capital is §Cs7L Jissle2/30,000/= 4 /€7 LS 20
Rs.18000/=, then the amount of net profit will be: B A e 1118000/

(A) 10,000 (B) 38000 (C) 12000 : (D) 20 000
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Roll No.

L.f.é}ﬁ;lsgf

Session;2015-2017

P i’il]CiplES of ACCOlllltillg (Essay Type)

Marks: 80

Section -I 2x10=20

Time: 2:30 Hours & 2:30:=%

Jilo

2. Write short answers of any fiVE_Pil[t.ﬁ_f_[Qm_th_E__fnl_l_l}!!i_ﬂgs___g!5ﬂﬂ%&iﬂi§f—ﬂﬁ¥;&(¢@j&u

. i
i,

g Iii.
iv.

V.

Vi,

Vii.

viii.

What is meant by receipt and payment account?

| R . W W T

What is meant by donations?... ... ..
What is meant by admission fee?

What is meant by consignee?

What is meant by normal ioss?

What is meant by depreciation?

What is meant by surplus?

‘What is meant by delcredre commission?

e sly Yz H’:&:ﬁhbﬂdr":
ST
?a:.:.:f/l_._fc_.ufﬁb

ey Ue J;r)
S st e SN
??,Jyg&di‘{é/rbfj

3. Write short answers of any five parts from the following. 2x5=10 ..u_éﬁ-—..Lmﬁ&még.:.éf.:.u:.,tj@ﬂ

i- What is single entry system?

i,

fii;

2\

; V.
Vi.

Vil.

" wiii,

Note: Attempt any three questions from the following.
4.

Define statement of affairs.
What is dividend?

What is prospectus?
Define firm.,

What is fluctuating capital?
What is goodwill?

Define joint stock company.
Section -II

On 1% January, 2007 a merchant purchased machinery costing

Rs.25000/=. Depreciation is to be provided annually according to straight
line method. The useful life of the asset is 10 years and the residual

value is Rs.5000/=
Required: Show machinery account for first five yesrs.

. Mr. Hassan commenced business on 1% January 2005 with the

capital of Rs.50000/=. He immediately purchased furniture for
Rs.12000/=. On 1 April, 2005 he borrowed Rs.30000/= from his
friend Mr. Saleem at 10% p.a and introduced a further capital of
his own amounting Rs.19000/=. He had withdrawn Rs.1800/= at
the end of each month for family expenses. On 31% December
2005 his position was as follows:

- Cash in hand Rs.1200/=, Cash at bank Rs.15600/=,

Sundry debtors Rs.28800/=,Stock Rs.40800/= B/R Rs.9600,
sundry creditors Rs.3000/=, Rent due Rs.900.

Ascertain the profit or loss made by him after considering the
following adjustments. '

. Depereciate furniture at 10% p.a.

I. Charge interest on capital at 10%.

.. Interest is unpaid on Mr.Saleem loan.

. Write off Rs.2800/= from sundry debtors.

20x3=60

?;I;.:Lflj’c.(tidfljk i

A

_q;c)y:‘/.:'fll-bﬁuf;f
?.,:‘-_,JI/'L»‘/;(J-;’
e ey
ey
Sl S
e (j.n’gar Lk

4 o>

< S S foe iy u-;::...(jf:_-(ﬁd' ibﬂ;bj

dﬁ’&:ﬂsoﬂm:é_z b L5, 2007(,5%4
Bbdbioby 3 AL 155 4 S s
S0l el e
..dif{._-u5GDD!=._ﬂ-‘E

I A e

&3/50000/=Lon s Sl 2005852 s

52005} A\ 2 pe3,12000/=8 1518,
L7 A0% e (i 15 PKe_2,30000/=5 ]
ol 1L 62 19000/= i Skl 1Y
_.ﬂ_cd.fl_..u F%_u_:l 800:’=¥:.~lgljl£.wlﬁl;{jfd:
U5t S SU12005 7531

- 1s15600/=( b ee2,1200/= (8
&-3,40800/=S -¢_,28800/=% 410
&_3/3000/=o# P20 e 3/96001= Jelrd )}
 000/= LK ik

S A WA=

0% AT ES

0 10%E Gy

-d{u“f vy & JLAT
ISP Al si28000= 45 20

(,:’t:‘-il)djbuflr’dr‘ j
80:/:;

N
i
i
Sesl Ve IS 7 i
f‘;{:_:fir'y:ﬁ_"-UWLL)J}" |
Vi
Vii
Vi

i
il
v
v
Vi
Vi
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i
i
i
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'\.]‘"

6. Naz Ltd issued 50000 shares @ Rs.500/= each fo general public. .:...,,L?f.,.héi.__,-ﬂoof:t,ﬁi 500002.,.‘«29)}5: .6
~~—Applications were received for 45000 shares. Remaining 5000 shares _L,_{;uﬁﬁ;:icﬁgfi 450002.{!!.46;1;:?4:’

. were taken up by the underwriters as per agreement. Company LG PuieFL e s 500001

[ allotted the shares, | wé...!/dj[f(_fﬂ?t?

i Required: Pass the Journal entries and prepare Balance sheet. -q’ﬁ_b'..:-:‘uﬂé;fu’_/uw ﬁle:.._.a”V

‘ 7. Kashif Radio House consigned 200 radio fo Wasif & Co. @ é&,uEOO#:ﬁﬁr Jeliels 94,2008 o g a8 T
Rs.200/= each. Kashif paid Rs.400/=. on freight, the consignee is eI SEI L 50400/= 4 lsieZ
entitled to commission @ 10% of gross sales. Wasif & Co. sent a B’é_.MDUUU#E.Jf i%l&f:_q..ﬁj?K F£ 10%

draft of Rs.10000/= as advance to the consignor. Wasif & Co. sold &4.___:.;400#;"@&"2..@? :VLI...iFl:_.LJd_-JL)JI:él..‘.:’U;
all the radio @ Rs.400/= each and submitted a final cheque with bga’LwaZ.(_,k:..:jmu;:__:/_-ﬁ;)a.?uéu’

the account sale. Lt S
Required: Prepare Journal entries and consignment account in ¥t U&:lq_huL ,FIJ,?JLJ;:C( JJ L:.._..;;W
the books of consigner. -& .TF/,:II

8. The following is the receipt and payment account of Sahiwal litrary ~ £2015 A A s S it 8
club for the year ended on 31%' December 2015. _;i:.g-f_g;;bi/ b’ﬁlﬂ;ﬂdﬁuﬁ{

Receipts UUr Rs. |Payments ul,fl;! Rs.

Opening Balance U 0L/ 10000 | Salaries expense &AUL¥ 12000

Subscription Y 15000 | Repair expense & =/ 4200

Entrance fee uf-"&ﬁi 6000 | Furniture ﬁ/’ 9000

Legacy =2 12000 | Investment (/6L 7000

interest on investment s»(LEL 500 | Utilities expense &l r” 3300

Misc. receipts ~ JUrJ>” 210 | Misc. Expenses «bl710/* 1300

Closing Balance (%! 6910

Total  JY 43710 | Total Y 43710
Additional information: | :L:JLP&LH
i. At the begining of the year the club owned books of Rs.10000/= _u.'.g’u.fl:fi!’d;wqu'll}é-‘ug S 4 7))
ii. Subscription of Rs.700/= was arrear at the begining of the | dv,:;,;faé:;,sw“gmJcsfédwe_.b’.{__w?éf i

year and Rs.800/= at the end of the year. e W71

ii. Interest on investment accrued Rs.50/= _.:_'..dﬂyllf.-alur,::dﬁ;'l- /a;'usnhé’-' Jii

iv. Depriciation on furniture @ 10% p.a and write off bunks of J.i_:.urfufj;z E‘_Jﬁuf;i:.::.h_.«ué; Ulf,w&mdjr);/f} v
Rs.2500/= ' g s

v. Repair expense outstanding Rs.200/= | _ugl:urgi:@ﬁy/;ﬁar_ur?. é" u
Required: Prepare income & expehditure account for the year 31-12-201 5(;JL’£.L{:H’;-’E?|}J!JJT:?3W
ended on 31-12-2015. -

9. Jawad and Nasir are partners in the ratio of 5:3. They included ST usii gt el 5:3 20l 9
Abdullah into partnership. Abdullah brought Rs.50,000/= as capital &-1,15000/=2il /J:@a;sJED,UUD;’:Lu’TI{J e
2nd Rs.15000/= as goodwill. The goodwill shall be divided inold 2L U= Uiumb ol iz bS8 105
partners. The new profit and loss sharing is 7:4:3 respectively. ...?_?;msw&wuﬁﬂ
Required: Pass Journal entries. ..q/agu_l,_ﬁrifz:_,:w

688-012-A-5000
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!

Paper Code 8171011

Sessions;2013-2015 & 2014-2016
Principles of Accounting (objective Type)
Marks: 15

.{...../J:EJ.!';JIJ.&-"T

(%) dJ’Jh:ﬂL’d}‘g /
Time: 20 Minutes &420:22% 15
;,Uirm.;q s’L_sLeru:.@‘-’ .:f.f.u_fff..,,r,zu%g ZLZ 3Dl C.B A=A bL drr,q.s;fq;q K lﬂfsf{d};?ﬁcﬁ&ﬂlrfﬁida;
U e S SIS 032 JtUsED L CBe A sz L

NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A B,C & D to each

question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
(question with Marker or pen ink on the answer sheet provided.

1. Outstanding subscription represents. _.;_.b/fqtﬁaﬁgdﬁﬂi.fqr; 1

14. Receipt and payment account is summary of;

(A) Asset & (B) Liability ($s.03 (C) Expense &/ (D) Both Aand C s
2. Donation recovered in advance is called: _.;_.{?Uﬁ/rdﬁﬁ;.;ﬁ 2
(A) expense &/ (B) income J.;,T (C) Liability (S5 (D) asset k!
3. If debit side of income and expenditure account is greater than ::_.EL».:.«*‘,/JJFELr.gﬁ.jd;uih:lgiﬁlm&ﬁ}ﬁ )
credit side, it represents. ~e- by cdsinsl s
(A) Loss b (B) profit & (C) deficit a3 (D) income (347
4. Capital fund of non-trading concern is calculated. _a‘:.t'%lr(r'ﬁj"‘j:jd:f{}:hﬂﬂéﬂfh/;a 4
(A) Assets - Liabilities  Jl/basi-e b2 (B) Liabilities - Assets = b2E - Ul
(C) Liabilities + Assets = b2t + Qi) (D) Expenditure - income (k4T - = bl
5. Consignment account is prepared by: _ﬁ:,t'):,l;':sib’fﬁuf k=
(A) consignor ALY (B) buyer (C) consignee LY (D) seller /b=3,/
6. Single entry system is not adopted by: =2 b@yfuiéﬁiff’ d;-‘ff"’ 6
(A) partnership ui‘.:/ﬁ,-"? (B) sole proprietorship (/L6 Jﬁﬁ‘ it
(C) non-trading concern  te_hsibis# (D) joint stock company qu;{ JE_L//;«'E‘
7. Partner's contribution to the firm is called: _:;._Jlk»’::pgi.bfmxl_.u( ﬁﬁ;h;«: b 4
(A) shares (B) capital .l (C) debenture . =K.~ (D) asset st
8. The persons who take all necessary steps to form a company are called: _@LM@L/@,LQI& .a’.../,f E'L?‘f).:?u@u .8
(A) directors 4713 (B) shareholders .b.= (C) promotors x4y (D) underwriters JFluk
9. For what purpose depreciation is provided? ' ?,:-_JngpL“_AL,L@JJLf 9
(A) replacement of assets g&: #’J:.th,i-t*f (B) calculation of correct profit gi_/f':l”éb».ww
(C) BothAand B s (D) None of these J*""J:(:.uful
10. Which are the intangible assets: srebzbld 2 10
(A) goodwill =*  (B) trade mark JEUA (C) copyright =¥ (D) allthese (U
11, Registration of partnership is: _..;.Jﬁo%}-b&:ﬁf 11
(A) Compulsory ($jU (B) optional (/¥ (C) necessary (§s/ (D) Both Aand C yshs
12. In private company directors should be at least: —Lffké_ﬁrbﬁ;ﬁl[fu:ﬁ;fl{ 12
(A) three £ (B) one (i (C) two (D) four Jb
13. For the firm interest on drawing is: _thﬁiﬁrjjr{ﬁu A3
- (A) income J,«T (B) expense &/ (C) asset :ZE! (D) None of these uféf;u.‘:uﬂ

e K P11 04T 14

(A) cash book Ju""—“-/ (B) balance sheet ~£U~%
(C) trial balance i/ (D) profit and loss account =Wl

15. Debenture holders are:

(A) owner 0L (B) creditors 57/}

sl A 15

(C) customer ¥ (D) debtors 4
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4.) deu,aL’df' ’
60 : /7

Time: 2:10 Hours g 2:10:23s

Marks: 60
Section -I 2x18=36 J3l 2
2. Write short answers of any six parts from the following. 2x6=12  _(/./7/=| h‘*/"".f_'pl:?h?;.df:_u.‘g,hb;: 2
. i. What is additional capital? S LAy i
ji. Define the term margin. U S i
. iii. What is meant by single entry system? ?.:‘:.JI/“L-’E_.(J d}-‘hﬁ" i
iv. What is meant by non-trading concerns? ?%JVHMLUJJ[J'JJEA; v
v. What is Legacy? ?r‘;.l;‘:" S
« vi. What is income and expenditure account? ?:‘;.t:rrl{.fL?K:.'lfiﬁDﬂJﬁ Vi
vii. Define life time membership. GBS ot i |
viii.HWhat is special subscription? 'i‘;,{féfc"_’ A2 Viii
ix._Define donations. _u;/hy/'fd':..w JAX
3. Write short answers of any six parts from the following. 2x6=12 -q/grfagmﬁ'?&rmga.&é—_ddjeﬂ 3
i. Define chartered company. -L{/_.y/"‘[ﬁj'iﬂ};g i
ii. What is meant by unlimited company? T{_.Jyl_.,fc:.mhdﬂujnﬁﬂ i
ii. Define memorandum of association. ..u:“’gmj"'dld-’*r cg_’fT i
iv. What is meant by issue of share at par? ?%:yg:.i_/d.:tg{dgub’u“‘? AV
v. Define authorized capital. _J,’ﬁhéfﬁJfL oRsE”
vi. Who is consignee? ?s:;t:fwf.jU"f Vi
" vii. Define outward consignment. *uf{éf/"'JJ}JLJ% vii
_viii. Why consignment account is prepared? ?.—;_t-lfy.‘fgu,ﬂ}’/,_,ln;u’ Vi
ix. Define inward consignment. u"’{if}d/dffdﬂuﬂ X
4. Write short answers of any six parts from the following. 2x6=12 ::-_, L?/‘;Lpl'?iﬁ’a.(j);'—uﬂghbﬂ 4
i. Define the sub-partner, fe )l /Lf:...;h_.-’mi 3.
ii. What is the profit and loss appropriation account? ?+Jygf¢;wff?£yuﬁ:€ i
iit. When a goodwill is valued? S QLU DBSE LGk i
iv. If the actual profit of the business is Rs.50000/= and normal rate of d}t;ﬂm;uSDDODI=(‘;’I:»&T'? Efsl,ub’fl v
" return is 5%, calculate the value of the whole business. _&Eg'f*’sﬁ&tuﬂf;ﬁ5%@;d’ f'jl:*
v. What is revaluation account? ?:‘:._;yi{r.l.wzd“’:éi;ﬁuyu v
vi. Define surrender value. ‘el e elibsiens i
. vii, What is meant by dissolution of partner ship? ?.;__:yg‘-;.é#&gur&’ [,f'f Vii
viii. Describe the diminishing balance method of depreciation. ?.:;..:I/_lff'r_dif)@ }’Z._I,B_J.L:fﬁ Viii
. ix_. Define the term "obsolescence". ?:‘:.:V_lf'/c_.rsw‘lp_fsj? X




Section -II r'.s:,.-'b

Note: Attempt any three questions from the following.  8x3=24 _L,[/J'..:-.rﬂb" L,t:" c..J:(.:..ui’J_' s 2 s
5. Rehan of Lahore sent goods at consignment to Rahim of Karachi costing uLLrls’%..uzo,000f=fff,:£¢j:,lfi_uls:.zﬁmu 5
Rs.20,000/=. Expenses incured by Rehan were Rs.1000/=. Rehan - AL 3,1000/= sl b S L
received account sales statement showing that half of consignment was Wl Tl 3 feld il
sold at Rs.18000/=, the expenses by Rahim were freight Rs.300/= A%J%HSUU#,«QL{&:}J ¢-4,18000/=
insurance Rs.180/= and other expenses Rs.100/=. His commission was  &./25100/== kA Lssle_1,180/= 4 /)
6% on sales and 2% del-credare commission. -‘Lz%d&-‘-ﬁfdjms%uéﬂw_i
Give journal entries in the books of Rehan and consignment alc. -ijyﬁlaf' ¥zt ot Suis
6. On 1% Jan 2013 Mr.Akram purchased a machinery for Rs.85000/=, J%:;BSDE}DI=J/‘;,~5’L(/(I}/):20136.::"?@/ .6

estimated life of machinery is 10 years. After which its scrap value will be /6t JJI;:JA:JL;‘;.JHO /UHIJJ/?CJAJ
Rs.5000/= only. Find out the annual depreciation accourding to fixed VY x oI 4 lpsé—2/5000/=28

instalment method and prepare the machinery account for first four years. -/ b2 3615 dev;,:b%;,slq/?ﬂ”c;é_{. Y

7. Mr. Ali and Mr.Wali are equal partners. Their balance sheet ﬂJui;C2015/:‘331_95;1;@5.4[4&:;{:;1&}” g
on 31° December 2015 was as follows. - LASILE
Assets =2k Liabilities (2l

Cash (& Rs. 20,000 Bilpayable &I} Rs. 20,000
Stock J& Rs. 30,000 Alicapital i 6§ Rs.25000

Furniture %/ Rs.20,000 Walicapital .l §U: Rs. 25000

Total f 70,000 Total 70,000

X Zahid was admitted as partner. He contributed cash Rs.20,000/= b 22/20,000/=C ) Tollst JCp st s P st
and Rs.8000/= as good will also. LIS = e 28000/=L 1K
Pass Journal entries and prepare balance sheet. -q’/ﬂyhbfu‘ﬂ-'-‘ﬂfug }'u,fz

8. Star Limited issued 10000 shares each Rs.10/= at 20% share ..Eft_fsig{ﬁg_ﬁﬁ"fne__._.aﬂ Uf={}J;?1ﬂUDDi-)?;"JJE- .8
premium. All the money were duly received and shares alloted. ﬁéﬁﬁeﬂfﬂﬂd_ﬁfdﬁ:ﬁrl}
Record in Journal and prepare balance sheet. _éywﬁqﬁ;h@dgﬁ?

9. Mr.Imran started business on 1" January, 2008 with a L-)JTSU__L'"{,J;I,MK:,&;;JSU,DUUF=:C2008L5;R{ .9
| capital of Rs.50,000/=. On 30" June 2008 he borrowed &3,10,000/= 43372 Yleas 30z ld_ 1452008
i from his friend Rs.10000/= at 9% p.a. On 31" December -u‘? ugﬁdEJfJap!:;:lalgj%ILJ 72008 #531-1.5
l 2008 his asset and liabilities were : Cash 2000/=, :.%.:J284DUI=J &« 4:_:;324DDI=L}"5/5‘._}%.:;2DUDI=J!
Sundry Debotors 32400/=, Stock 28400/= and Sundry u;r/,géq/?}#uuﬁgc‘)"bﬁzuosl@y_ﬁ.y%00!%%%)’

Creditors 5800/=. Ascertain profit and loss made by Imran _iifru‘l5600f=:..;l,.u(é;.ralfffb.|:/fui mlJi
during 2008. Imran's drawing during the year were 15600/=. |
702-012-A- 35¢
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Principles of Accounting (objective Type) &) bl vl

Marks: 20 Time: 30 Minutes 2430:%s 20:

LA 86012 e T .T.J.:?Lf"ru_}'é‘fé._:DJ:I',C,B,Aagfﬁﬁkédlrﬁﬁ{{db’@fﬁ@f’fd)ayﬁﬁ&wrrL'f’:n.b;
. e SN 3k s IED | CBe A szl
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
qu%tion with Marker or pen ink on the answer sheet provided.

1.1, The accumulated depreciation is a; , _;_J,y)gj,f A
(A) contraasset 2¢islz* (B) expense &/ (C) revenue (T (D) all these (Lf";
2. Due to legal restriction, which business can not &ﬁ.,,urtbﬁlﬁﬁ;l,ub’bu:@_,_mfug;:géﬁﬁ‘ 2
" adopt single entry system? LS 2 it
(A) sole trader ;guK" pral (B) partnership ;Lul:a’«ﬁ;
(C) joint stock company E bS5 (D) allthese (L%
3. A statement containing the detail of goods sold, expenses incurred Jf-{;(.:i:)m:,lffﬁ;L}ihﬁ.-:i:)u:u‘?uiﬁf .3
and commission on sale is called: ...»‘:.Jl}ﬁ%.,f}ﬂzwg}::"“’ g
(A) performa invoice | J19Mby (B) consignment deed -/ losb
(C) sales invoice ‘_/,;;;I:: (D) account sales /"f._*;:is’! )
4. By nature, life membership fee is a: -.-f_(_)_'.*;’____,.,ﬁ/_,aj’y[gx_a 4

(A) revenue receipt (UL (B) capitalreceipt sl (C) BothA&B Usn (D) None A0S
5. Share holders of a company having residual rights are known as: _ugz_lk’f;{ri_ﬁ{j%ﬂdwj;ziw’wuud‘? Ltj-:-r 5

(A) common share holders L—Jbbd‘?k (B) preference share holders cﬂ;f.uf" oy
(C) Both A& B s (D) None Uy )

6. In general partnership, the liability of all partners is: - d!fd;fj_«*jJLJJJI},.EU:JI:JJE/&(]‘;L‘}FH? 6
(A) unlimited .40  (B) Limited s (C) BothA&B ysh D) None %03/

7. Which of these characteristics does not apply to the partnership? Y IRV 1Y [,-"(3!’} K 2 ..:.-'l::r‘;cﬂ T

(A) mutual agency u’ffiu"i_. (B) no taxation e tr?ly (C) limited liability (S/ssine, (D) None 4(0Y
8. Under qusi single entry system, personal accounts, cash book ;yé‘.t&jﬂ_{’f-{iw’fﬁz&ﬁ?urw}; A€ 8

and accounts are maintained: b
(A) real (& (B) subsidiary «=# (C) Nominal %k (D) None (s
9. Natural resources are also called assets. | ) _u;?.'::f - JHsds 0
(A) plant (B) wasting i st (C) intangible (.4 (D) fixed 2
10. Under simple entry, system, accounts are maintained: -ugilgixgawlﬁéﬁﬁfurwig Al 10
(A) personal (& (B) cash book Jtﬁr (C) BothA&B Uy (D) None of these U2b/e U4
11. An additional amount paid to the consignee for surety to recover iéﬁﬁ(fd:“’k_{f:ﬁ:/%lwiﬁ L3 11
credit sale is called: _ . _e Gt Qi)
(A) commission ¥ (B) salary o ¥  (C) Del-credere commission c)"-"ff.x«jfg,tj (D) loss i
12. The income and expenditure account is prepared to know. -.:;.E'nglkg ;L)?.»hf’:w's’.-:tflju,ujj 12
(A) surplus o476 (B) deficit o3 (C) BothA&B Ush (D) None 3y
13. Shares on which dividend is paid at predetermined fixed rate are called: _ugiwf%bggjrﬁ;uuaﬁia‘g{&ﬂ; A3
" (A) common shares o (B) preference shares (5 '
(C) deferred shares J’{}Iﬂf (D) alithese Uz, B
14. The gain or loss on realization is distributed among the partners as per: _:;_tl.gi._f"r‘:"f;;_l,éJutu,;u,.bwuﬁ,ﬁ{_»,_@,}d;nfgL=r 14
(A) old profit and loss ratio Z,/"-’Jcﬂ.-a?'d}:l@’ Jiy (B) new profit and loss ratio @;Juuﬁ,cﬂ’ﬁ
(C) gaining ratio ¢ Alnst (D) sacrificing ratio ¢, /inG
15. For allocation of cost of intangible assets into expense the e }’.’#d L/ﬂﬁd@ﬁfw@&;@,ﬁwd 2 15
» method is used: -~ b
(A) declining balance k}s’d{,}:d/ (B) straightline  §L3L-
(C) units of output €LY sl (D) None_ 034
"16. During conversion of single entry into double entry, the missing l’.u._.:-’ GJ&:)ﬁ&;LfQ;ufrwigﬁ;{»wia. A1 .16
figure of cash sales is ascertained through. :,.;:u,};;{_t*{f{_g?—,b*f
(A) cash account W (B) salesaccount sldiesy/
(C) statement of affairs = lbleaslsy (D) alithese (U
17. The term loading is associated with the method of consignment. e Q2 & LA p N S EYY 17
" (A) costprice 3 KNI (B) invoice price 3 A¥ed (57
(C) BothA&B s | (D) None X3S ) .
18. The amount paid as reward of services rendered to a person who L&Lﬁa}/ﬁ I)ﬁfum;rjgb’umd_;@fgf._g 18
is not.an employee of a non-trading concern is called: _b_{rgf HJ#J)?JI'U:LJ:
(A) salary of¥ (B) wages (L7 (C) BothA&B s (D) honorarium il
19. The minimum number of members of a private company are; _c;:.dmlﬁﬁlrgu!/:‘é:&?‘:fr{hg 19
(A) 10 (B) 7 (€) 2 (D) 4
20. Goodwill is only recorded in the books of account when it is: e d!.gJ b;;;ﬁ;gfudu,fﬁfdgzd;:d’ 20
(A) paid to retiring partner < (b billod 1 s il _ (B) purchased_ < (b3t
(C) received from retiring partner {_.diyJJﬁ:f;.;b,-a?Lbi_ﬂJu? (D) None &4y
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to be filled in by the candidate.

‘hiarks:ﬂﬂ
Section ~I

i. Define fixed installment method.

2. Write short answers of any five parts from the following.

Inter - (Pari-11) -A-2018

Sessions;2015-2017&2016-2018
Principles of Accounting (Essay Type)

Time: 2:30 Hours &% 2:30:=s

2x10=20

ii. What is meant by receipt and payment account?

iii. Define admission fee.

. Define capital fund.

v. What is meant by an account sale?
vi. What is meant by direct expenses?
ii. Define diminishing balance method.
ii. Define commission.

3. Write short answers of any five parts from the following.

i. What is Net Worth method?
ii. What is additional capital?
iil. What is drawings?

iv. Define partnership?

2x5=10

::E;;)LSJIJVL?‘),‘!
8[}:/:}

Jil o
Uf :.*.a l:’/‘;difffféh:.d:::..(j:JJCﬂ 2
_J)’._.:JjL)(_J)’L,!:,—’u/" i
':'r__i/lxra.(ffﬁ.ufd*".ﬂul*‘f R
_J;J;JJJJ’M i
U Mﬁf v
'E';_i"_,,if/_'lfc.-._.fL-"‘..:.-';:/" V
sl = blflertinly Vi
ST YTy I
NSyt

2x5=10 -2 felin Ll anbhe $ievtditn 3

‘e FE5LI(Net worth method)U e baEIYS i

v. Write two advantages of partnership business.

vi. Write down any two characteristics of single entry system.

vii. Define private limited company.
vii.

" Section -II

Note: Attempt any three questions from the following.

What is meant by preliminary expenses of company.

20x3=60

4, On 1% January, 2011 Khurram Co. purchased a machinery for
Rs.21000/=. The estimated life of the machine is 10 years after which

its break up value will be Rs.1000/= only.

Required: Find out the amount of annual depreciation under fixed
installment method and prepare the machinery account for first five years.
5. Ali maintains his books under single entry system. From the following

sl L/(_;.u)Jﬂl i
el Fiss i
u"LJ;JJ iv

u"ﬁfs’uéz;lf Jb[j/’ V
LB I

SISt EF s 21, i
sl e = bAIBEIL S i
(43,2

—J/JILJ,HUIJ’ U: JJZ/AU‘ -...-r.s’
u‘.-r_yzwuomsffj ,J_Jf-;? 20116453 .4
UIEPTLS VAR AN u’..»;
_dud_..s.:'IDDUf LAY

B L r‘!-*-fﬂVJLﬁf} s
U oA L& =5
;;M-Lf/bd&ﬁd/’ﬁfjd’dj o

information prepare statement showing profit and loss and statement of a.:lfﬁ:lufbulff(uLan':(‘f:-v_.-hl"“_)';

affairs for the year ending 30" June, 2005. U 200592302 s
01-07-2004 | 30-06-2005
Cash in hand S 900 2800
. Debtors S 22800 21400
Creditors WSS 31200 38400
. Stock V-3 33400 37400
Bill Receiveable Sl 30500 28800
Bank over draft S5 sesE 40800 39200
, Motor van 3% 4200 4200
Furniture o/ 3400 3400
. Drawing Rs.4800/= derpreciation furniture at 10% write off Rs.800/= xdﬁ%x, _Lﬁ-’murjxf}..—:_d_ +,4800/= :_5“" L

on moftor van. Provide Rs.1000/= as bad debts and 5% reserve on

debtors. Provide reserve of Rs.1600/= on bill receiveable.

L

al

L *11000;’—;';:'!:’1&. e s e +800/=
u*f JIJL +,1600/= UW‘J-"*LJ{*:S'J/JM..EJL‘, /.:,‘




o. Karim Limited having an authorized capital of Rs.50,00,000/=
divided into shares of Rs.100/= each, issued 20000/= shares J?Fru"'Q?QOODU c_bfbrr‘)u",,ﬂdg +,100/=
to public at a premium of Rs.10 and received 30000 applications u’“r:’;,rBOODDf-;de_z d,rwﬁur | Js? ud_u‘lD;‘—
of 10000 applications refunded.Shares were allotted to L,E,sfu)m_)"'lf.u‘10000f—;:.lfu’u’r

L2 ¢ 2/50,00,000/= 4 ros2sKindl)S 6

20000 applicants. _Z‘fwtﬁu’ furf?JJEDUDG L;"'/
Required: Pass the Journal entries and prepare Balance sheet. ...;_kc...wL)'J" sfuL;IJf o

7. Rashid and company of Lahore consigned to Ali and company of Multan /JB’:(UELLSJ;IJ‘:L.;:*U..J U’C-ff,r T
50 cases of piece goods valued at Rs.350/= each. The consignor paid .,rrl,..r[/rd.{)”/yﬂ‘_fa.. 1,350/=_ L~
freight and insurance there on Rs.1800/=. They received an advance a_:JSDDDI—;:.U'rM&erw;IL,MBUOL

from Ali and company Rs.8000/=. An account sales received from Ali and f.!’d""*;’w?,!/’uf“fc"_-pfrk]d; sz Ju,»r
company. Particulars are as uner. Gross proceeds Rs.28000/= expenses I/’F‘I::L;JEBDUDf-dfsrb_a_ufd"’ﬁ;fm

of warehousing, carriage dock dues etc. incurred by them amounted to tﬁlﬂJLuQDD;’—ubiﬂ;ﬁnf
Rs.900/= and their commission Rs.1000/= -<-<-21000/=
Required: Pass journal entries and prepare consignment account in lef.-lubh,ngt...:b(&}"/ u._-f.ﬁl‘b"'
the books of consignor. _L,jfk,b(
8. Prepare income and expenditure account for the year ended .;:.:_ad/ughuﬂuﬁﬁ(_}_j@;: .8
December 31, 2016 and also the balance sheet on that date of J:I@ﬁ:u),n&brﬁ!;ﬁ’ﬂ(ﬁc‘?m 67531
Ali libarary with the help of following receipt and payment account. ..L)_,’):Ed.-fuﬂ-"
Receipts U/ o Rs. |Payments u_uf_:’ b Rs.
Opening Balance U= 1300 | By general expenses  =bl7lcb 600
HTG annual subscription 220l 1600 | By salaries and wages L}.’ib:lg_ﬂr 700
To life memebership fee ;E;;’df 300 | Furniture /""/’ 900
To entrance fee ) 200 | By rent, rates & taxes J‘fruﬂ:ﬁif/r 500
To interest on securities 7y ;.#:.;,-f: 200 | By printing & stationery .l':_l‘fv:__f 150
To sundry receipts  JUU»a0 4 50 | By repairs o 150
By Balance U~ 650
3650 3650
Adjustments:. ..:c.ul;:,/-ﬂj
I. Annual subscription in arrears amounted Rs.400/= _r—_.-f_:..r40m=u‘»>dr":J e .
ii. General expenses outstanding on Dec 31, 2016 were Rs.50/= U2l s,80/= :‘/2016/’31Hbr,?r ‘/? Ji

iii. Secretary salary Rs.200/= though sanctioned by the library had -Jﬁuﬁfgﬁ-i;!g?pc-r’ﬁ.d;ﬁ uﬁf_e___,u:zﬂm—arfb (28
not been paid.

i

v

9

(a)
(b)
(c)

.(d)

iv. Rs.200/= is to be writien off as depreciation of furniture. sl thf /‘.«.‘._:;2001’—;/)
9. XY are the partners shairing profit and loss in the ratio of 3:2. They Ul ALL3: 2@/&1}L-an'.abyaCJLuK&;b:ﬁ.Y;,F}{
insure the lives jointly for Rs.75000/= at an annual premium of ,.JLILfJu’Jﬁ_u%UDDI—dJL(, LL)J.IHL.V/-/'A_
Rs.3500/= to be debited to the business.Y dies three months afterthe  (§TY_(£ b Sl sk ,u350mhd’ NS
date of the last balance sheet. According to the partnership deeds Y's LHfasbelf Lgb~ﬂrLJ£._.ru"-du¢_;:;
legal representatives are entitled to the following payments. | _L,f‘éE/U’:La (;JJ[,;:..,;F:ZYL} b
(). His capital as per the last balance sheet. whlk L:zf.ﬂ_..vu‘l'df | f'.xd:Lf
(). Interest on above capital at 6% p.a to date of death. _...f_..b.s@,rt'ug 1;r(£w¢,__,,q,:>£_6ﬂ;{-,n_;,/
(©). His share of profit to date of death calculated on the basis of last year profit. -bLbLJIJb‘JCL"& dvﬁ Cii- E’...f.._.b:f,,atb(\’
(d). His shares of insurance money 1)FJf’;Ju"JLu'waJL,fL,rJ
His drawings are to be bear interest at an average rate of 2% on the EY- d.t'blrrc;ﬂ:u:’t;uu£2ﬂfblbf*rffb\Juf'!
amount irrespective of period. Y's capital as per the last balance sheet was /C"ip&jl' lﬂ‘:.’_, +,40000/=_ LLMLJU"LLE!F L
40000/=and his drawings were 5000/= the last year's profit was 30000/=, i.:fa_ +,30000/= 6&@&&? ,-Faﬁu5{JDD,’-cf"
Required: Draw Y's account to be rendered to his legal representative. _E.Jﬂffwxlebdﬂb SKY: _..-;u”
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Y@k kg Sl A

Roll No. e S4sphurt Paper Code 8|7({0]65
Session;2014-2016

Principles of Accounting (ovjective Type) (5%) dzb..rl’?d:‘l
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A3z 'WJJ?#T:(?fﬁJ?rL{_?éé-:!DHT,C,B,A&Lfﬂé.’bid]fjfaq_‘{d{@ﬂLf?!f’fd:&l,fﬂia.«mfra’:#;
U e G LA 3% s hLD | CBe A sz L
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each

qugstion are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

1.1. Consignee sells the goods on hehalf of etz JEIE 1
- (A) drawer s} (B) drawee JL:E (C) consignor ’}-’[,:J’ (D) agent &4
2. The partnership act is: - IS 2
(A) 1932 (B) 1912 (C) 1962 (D) 1984
3. In the absence of an agreement profit and loss is divided by uyg:iuuh,ﬂw:ﬂﬂJJ;ﬁr‘rxJ (Agreement)osb .3
partners in ratio of: e b :_-_:,Hul..a'ﬂjd’

(A) capital L (B) time devoted by each partner sy r (C) equally .z (D) interest on capital ::qc'ib-
4. Partner's current accounts are opened when capital account is:  —srzl¥, L /_.aaqu.tgi_;{:mwiw’alg&uuuﬁ 4

(A) fixed u';’ (B) fluctuating .:r;.{f (C) current =k (D) nominal J=y
S. The decrease in the value of intangible assets is known as: ..;l-._I:L?Lf.a-_t,‘:_ de}:u‘:;-é e (Asset)zkl .5
(A) amortization J‘”-JJLULI (B) appreciation Jlolf e J;.‘-H
(C) depreciation J#£¥ (D) depletion c;.”%j
6. Depreciation is charged on: ..:""_.Jk"l,;l: befset 6
(A) fixed assets only ,;,&EIJ‘:" /2 (B) current asset only ,;,.EH(LS;I?).:.Jg
(C) BothA&B s (D) alithese ¢l
7. To calculate the value of capital both at the begining and at the end of the ,";h‘:,l. V'] E‘iv'u,iéu:;nu:ﬁ"g;fﬁ’ 7
year in single entry system prepare. ,L,_?L/Gg(r#lf
(A) balance sheet :.-r"u"-lf (B) trading account ;hf:!;? |
(C) trial balance uJ'-lFJT} (D) statement of affair ﬁ‘f....iT.;ﬁ:"
8. Opening capital is calculated by taking difference between. R eatb) Sy AVA IR
(A) opening assets & closing assets 21§ Cwmrér_:ar (B) opening assets and closing liabilities Ubsad § E‘iﬂ.uf.&h‘er.Qf
(C) opening assets and opening liabilities ;_JLJ'J,.AJJLE!J:L’:B'IJU::! (D) closing assets and closing liabilities U3 Bz o1
9. Non-profit making organizations: _L;_r:;fuf.s"“aig/f 9
(A) buy goods ﬁjd,fg'f (B) manufacture goods UL/
- (C) sell goods =35 36,51 (D) Noneofthese ¥ /e
10. Example of non profit making organization is: w3 Ljﬁ,&fi"" J A5 10
- (A) fan factory dj—?&fg (B) sugar industry {_5}@;.:.-’:"&;,?
(C) Hospital  Jixr (D) shoes factory d,‘-?JE_ﬂ
11. Receipt and payment account shows. _;:_L-/':,;LQ:LA’ s’ﬁuu,ldﬁ 11
. (A) opening and closing balance of cash L& Lsi ek s (B) assets and liabilities = A2lshe o2t
(C) liabilities and capital L stz L2l (D) profitand loss LHE
~12. How many kinds of companies are registred under company ordinance 1984, -UEJJ?WJUHJF (f"( _-—5"2:1984&:51?2.15( A2
(A) two (B) three (C) four b (D) five &L
13. Maximum number of members in private company are: _‘::_Jm!ﬁu‘g.i;.uy&iﬁ’ﬁﬁifl{ A3
(A) 10 (B) 50 (C) 100 (D) 150
“14. Number of legal documents of a public limited company are: _.:;.Jﬁ:lﬁl,(aijb’a jﬁu:&.‘-";,af_J_},_i; 14
(A) two (B) three 2 (C) four (D) five &}
15. In books of consignor on receiving advance from consignee is g-;f..#"z’._th dﬁujuér;_ﬁlf._..s:u:?tﬂ A 15
debited to: S
(A) cash account U0 (B) consignment account s\
(C) consignee account pr{sa (D) None of these (,)ﬁﬁ:';-_ﬁwr

701-012-A- X S 3



Inter - (Part-11) -A-2018

Roll No.

to be filled in by the candidate.

Principles of Accounting (Essay

Marks: 60 Time: 2:10 Hours é 2:10:=3 60 /"
Section -1 2x18=36 JE’.-'@
2. Write short answers of any six parts from the following. 2x6=12  _f/ /7 felin S 2 = Sl it sts .2
“ i. What is meant by pure single entry system of book keeping? S sl e AL
ii. State two characteristics of single entry system. _@yayr”?ﬂ:&rtﬁigﬁ i
“iii. Write three examples of non-trading concerns. _&fﬁbﬁﬁ*cf Juuf.ﬂa;l;’/f Jii
iv. What is meant by receipts and payment account? ?;:_.sy_l,(c,:lp(cﬁug:l:fﬂldﬂs v
v. What is meant by entrance fee? ?.::;.JLI‘L;Q-_UL";J-GIJ V
vi. What is meant by surplus? ?4‘:.‘.![,.:'?::;(3.&7‘_}2{5 Vi
vii. Define subscription. _¥4;7&g Vi
viii. What is difference between trading and non-trading concerns? ?.T_,J)_U’LKUJJIJFJJ_[{Z&:IJJ,B‘" Viii
ix. What is meant by Legacy? ?ﬂ;;r/g‘:.dﬁdf:é_ﬂf be b ix
3. Write short answers of any six parts from the following. 2x6=12 _L{)};@LLF:F?JZA:ZL@’LJ:E.JLZEEM e
i. Who are promoters? %{}'Lﬁd:ﬁ)ﬁg i
ii. How many types under which a company can issue its share capital? &fdx@ﬂ%r&rﬁiuz@&m&?jﬁrjg l
Write names also. _L{J{r}'fr’t?{_
li. What is statement in lieu of prospectus in company? e txﬂb’/,ntﬁr’ﬁ'nﬁli‘u‘fdf i
iv. What is an article of association? E'L,{‘:E_ﬁ"lfi_:rf:%ﬁlﬁz:d{ iv
v. Who are underwriters? St nwdi Pkt N
vi. What is meant by over-riding commission? ﬂ';f_:f/lf.-;.ge‘-fdw Vi
vii. What is del credere commission? ?.;,rﬂg&-ﬂgfdi Vii
viii. What is invoice price? ?{_L}ﬁgﬁﬂ.;ﬁﬂ viii
iX. Who are consignee and consignor? E‘L,_.rri_.ﬁu!."._llJ’ 7 X
4. Write short answers of any six parts from the following. 2x6=12 _J_):zj“aglﬁ/‘?iflzgaafauﬂd s 4
i. What is meant by partnership deed? ?.;.:ygf;cﬁﬁwbﬁ N
ii. Who is called nominal partner? ?pﬁz‘fd’:ﬂ:ﬁ?{i i
- iii. On which reasons a partner is called Holding out partner? ?ufixf:_b;wrtzﬂf:ﬁa{f{hJ:«[.ﬁ;:}( il
iv. Name the different methods used for measuring goodwill. _q&ﬂ:' tﬁu;@}’ﬁédﬂﬁfvdxguf v
v. Define Memorandum Revaluation account. _L,g/._.f-; /U..UEE' !u”ir%:d.rrﬁ;f:' v
vi. What is meant by co-ownership? el Ve a7 i
vii. How many ways are there in which partnership is dissolved? %ﬂkxﬁr"‘&@u(&ff}uﬁubff Vii
viii. What are the causes of depreciation of assets? el 2s s A la b2t i
ix. Give two differences between straight line method and diminishing s PR Lgﬁﬁlw’isf“i;)ﬁbﬁi;ﬂvdﬁw” X

balance method.

Session;2014-2016
Type)

VIS

(B0 dJ’JtTJL»’df l




Section -II r::,.b

Note: Attempt any three questions from the following. 8x3=24 _J)U’....«Ulr ui' Llj;;_".-L;J K10V O

5. On 1> March 2015, Nasir and Co.sent to Nafees and company jﬂLJJESUOUDI—LerF/-‘tf 20155AF .5

| goods costing Rs.250000/= on consignment basis. Consignor paid ik /_u_“fff(ﬁr ,;.._;l!_,r’.ff;uu,lfﬂ,_}’ /JL;_L/IJ
Rs.15000/= for freight. On June 30,2015 Nasir and company ;CZEHSQﬁSOqél:faiLfmel,{___;ﬂSUDD!:
received on account sales datled 18thl June 2015, showing that Jﬁﬂfﬁss’rdﬁ&%zmsuﬁwd’&f L
all the goods had been sold for a sum of Rs.400000/= and total UL 1800000/=E IS Tl 23
expenses paid by consignee were Rs.26000/= The consignee is entitled ;5“3.{7;;25000;*:&7@,5&/@!9}" /..ﬂ&j}
to a commission of 7% on sales proceed. H.:_AJPK&'{ A“j?fﬁ J._; '.JU" 7
Required: Pass Journal entries and prepare consignment account Jiz :ru’f Z,Lu:f(,i._;‘/ Jﬁ'r B ...a'h"
and consignee account in the books of consignor. _L}");"L,,._JIJ’/;HLU’/

6. On 1°' January 2012, a firm purchased a machinery for Rs.95000/= and aj.?fug@_u%ooof:a‘.r)yg’uizo1zd.xﬁg/ 6
spent Rs.5000/= on its installation. Assuming accounts are closed on L{)’J)..i@ﬁ{#"bfuie;;;5nonf=;jaLfy"
31%! December every year and depreciation is charged at the rate of 'S .ar).ul.«‘:_tm’;:";31Jbﬁrfﬁfﬁ’db{b@uﬂ
10% per annum on straight line method. HL{/?‘;""JZE__)’&::.JD
Required: Prepare machinery account for the 1*! four years. L}_‘"Jhﬁib’ld/&"’é_{dwk#;_:yﬂb

7. Ali, Zahid and Abid formed a partnership on January 1,2010 Sharing JI/-'?;’:ZUW‘S;??,&;.:»:‘J&?Mi.¢bggl¢rer§‘ F
profit and loss in the ratio of 4:3:1. Their capitals are Rs.50000/=, rH_:JEUUD[J!:Ef'-‘_;:‘ﬂL,rL/Ku}Ld:J:@
Rs.30000/= and Rs.20000/= respectively. Interest on capital would -« 6%z L /,,r:..a._:JZDODDI—,mLMSDUDUI*
be 6%. Drawings during the year were Rs.7000/=,Rs.5000/= and &3/5000/=c5,7000/= /Locfyubué:dlf
Rs.1500/= respectively. Before charging interest the profit of the b”ﬂ:‘i;;/ Culosyee3s1500/=04
year is Rs.240000/= -£240000/=

Required: Show profit and loss appropriation account and AT (7R /L;K}%F.:Jib’fc)’?ld.pglh’c)hﬁ:g.:;._.a:u”
partners capital accounts.
8. Zahra Lid Co. issued 20000, 12% debenture of Rs.100/= each. £ {734 5100/== K. 12% 20000 25 .8

What entries will be made in the company books if: N LU L S >
(i) Debentures are issued at par value. _df@éﬁi@{ijﬂg{&ﬁ; (i)
(i) Debenturs are issued at 10% premium. *ufflgidzlg,;&.;w%:f{} (ii)
(i) Debentures are issued at 10% discount. -uff@éfd;lg{&ib‘i—im%:_«ﬁ (iii)

9. Prepare the statement of profit and loss of Mr.Zaid from the given information. _u_ff;.l_i—‘c..uJ.:«L:"’L:‘fd:u!ﬁfﬁbuﬁ;gb@j}/ 9

Additional capital L-3lf {10,000

Ending capital .\ S(F! 60,000

Drawings UE b 8000

Opening capital ,;.JL/JIJJ:! 50,000
702-012-A-
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5

Principles of Accounting (objective Type)

Marks: 20 Time: 30 Minutes &2430:23s

(&) Gl L»"dr"l
20: 4

L A6z 'MJJTU».';IJ?(_,"?:U‘{FEf-fﬂ_p.!DJJ’,CTB,AétfﬁJﬁJ&LJIFﬁgE{{QEbﬁ&ﬁf’fd}&&'ﬁ&&ﬂtﬂfﬁ:é;

U e LGB 203 S UsED | CB A szl

NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each

question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

-1.1. Goodwill is:

_:;'_Er[/' 1.1

(A) tangible asset £Ei$st (B) intangible asset .:.‘-F;*-iu’:L/:,a (C) fixed asset P (D) Liability — ($s.s]

« 2. The decrease in the value of tangible assets is known as:

(A) depletion ¥}  (B) amortization ZEEA

3. The value of an asset at the end of working life is called:

(A) original cost = U} (B) book value e 37

4. The decrease in the value of mines quarries etc is termed as:

‘H
-Hfj

(A) depletion (B) depreciation (-}
5. The maximum numbers in a public company is:

(A) 10w
(C) 1000 3z L

6. In a private company, directors should be at least.
(A) 4 b (B) 3 £

7. Share holders are:
(A) owners L

S

(B) directors

8. The document issued by the company for raising of capital is called:

(A) Memorandum of Association u’r c}f'f'
(C) Articles of Association (ﬁ'@fﬁ
9. The face value of a share is also called
_ (A) Market value=£($/t  (B) Parvalue ksl
10. Single entry system is generally adopted by
(A) small &
11. The both aspects of transactions must be recorded in:
(A) single entry system & SES
(C) BothA&B s
12. Non-profit making organizations are established for:
(A) profit earning ;';';.fi_ufc’f
(C) manufacturing goods E@Q../Jp‘;-ﬁ
13. The amount received by way of gift is called:
(A) legacy S
14. Subscription received in advance is a/an;
(A) Liability (/053

(B) larg <« %

(B) subscription .43

(B) expense 7

15. The amount paid by a new member at the time of admission is called:

i (B) entrance fee uf..k‘rb
16. The parties in consignment are:

E (A) two s (B) three
17. The person who sends the goods is called:

' (A) consignee (L
18. The remuneration of the consignee is called:

L

ol ¥ (B) commission ffl

(A) legacy

(B) consignor A

(A) salary

19. The benefit of the good name of the business is called:

(A) depreciation J;r,’ (B) goodwill 4L
20. Goodwill is afan:

(A) asset 26 (] (B) profit b

(C) dividend rrf‘

e QW A bitigF 2
(C) depreciation d}/ (D) appreciation ALl
_%dw@L&Wﬂébﬂ:}ATJK e

(C) marketvalue &Edﬂjg (D) scrap value J}Lf

IS NG s 4
(C) construction /,-,"j (D) amortization Jf:FL*JLI
_.:‘;erﬁu_l,;m;pbfyl,:@dﬁgwg 5
(B) 100 L
(D) None of these e Ayl
-».;-_Jmfpf"ﬁff&?}?ﬂiuﬂdff:{:ff—;—ﬂ 6
(D) 1 A |
_L,_?er.}.rﬂﬁﬁfi ol
(D) employees (it
_%L}Mﬁ;aféﬂz;PJﬂ&:fgé_[&fo .8
(B) Prospectus .t
(D) Statutory Report Lyl T
-L{?é’fﬁ ------- fﬁsuﬁ'tfﬁf .9
(C) Bookvalue =.fJ0 (D) all these s

(C) 2 s

(C) managers ;ﬁf

business concems: -yt & e ISALK ool A 10

(C) medium 2w (D) allthese vy
b s UL s A1
(B) double entry system  yt¢ (£t
(D) barter system (LW 12 LitP ‘,
gL Fie et 12
(B) social purposes gﬂu&[}.k '
(D) to help the rich people 272 S §Us 2!
_%éﬂfc?&t;;ﬁﬁjﬁf:u 3
(D) membership fee u»f’.,;;/
etz 14
(D) asset 2k
_ﬁ_g}lkfr.;;l?gﬁ"_lf..g::!:ﬁ.ﬁbﬁau A5
(D) membership fee (4%
SE ) LSS 16

(C) donation .k#
(C) income AT

(C) donation .&¢

(C) four b (D) five &L
....:;'_t‘ﬂ;rczﬂ_"_[.?ﬂg{,‘_@ﬁ;)u B IF 4
(C) drawer uﬂ/._..a'-'f (D) drawee .JIi_=,

gl L 18
(D) interest s :

SR t'UfGJr"li KL}'L\..Q:JJL:;K 19

(C) patent i (D) Liability (/s
_.:‘:.,dmfb 20
(C) expense ./ (D) Liability  (§/ls.s
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Inter - (Part-Il) -A-2019

RDH ._NO. to be filled in by the candidate. (FOI’ .El" SQSSiOI‘IS) _
Principles of Accounting (Essay Type) SO L?Jr" I
" Marks: 80 Time: 2:30 Hours &£ 2:30:=% 80: /%
Section -I 2x10=20 Jisto
2. Write short answers of any five parts from the following. 2x5=10 -L{):f;;;'eL'ﬂﬁéffﬁiékﬂ-éfagﬂqjjaﬂ 2
i. Define Account Sale. ' “eE Pl ol
ii. Define Consignment. | | ey Al i
iii. Define Single Entry System. | , _a_f-:iij"(frw}g A il
iv. Write down formula for calculating adjusted capital. _g’%wﬁ@ /LE’E_/?}’”:;L /iu;gf v
v. Differentiate between statement of affairs and balance sheet. -] fuy&)uf#ﬂm:..uwuxﬁf Y
vi. What is meant by normal loss of stock? ?{_:Lr'l_frapuhﬁdsf’ﬁd’ﬁ- Vi
vii. Define Nominal partner. - :4‘6 ._gj"@u,,n?f ¥ vii
viii. What is meant by revaluation of assets and liabilities? ?‘-;_.:I/I_.,fc;-..é_/u‘-;"v Ju;leui;.elal.gﬁfl Viii
<. Write short answers of any five parts from the following. 2x5=10 _q}:ffagfﬁﬁ?[_flzlélé:.éfa.pfd s W3
i. Define Honorarium. & ._..yfbf;;rlyf 4
ii. Define Capital Fund. ,JJEJMM i
iii. Explain private limited company. _éfwujJﬁrﬁ.‘J&:ff{ ii
iv. Define Promoters. Jéﬁé_’ﬁ(ﬁ)ﬂ{ v
v. What is meant by shares? ?r;_'_:fflf.:.,;f"’? R
vi. Define Depreciation. _"c__f*(_.g'/.’.&;rf Vi
vii. Define Scrap Value. Sk IS A NS i
viii. What is meant by Reserve? Sl Uiz i
Section -II (912>
Note: Attempt any three questions from the following.  20x3=60 -L{qud":.aﬂlr gf::.{j:(a;.-ufgf_;bu s
4. Mr Jaleel maintains his books under single entry system. His s’m_.;.r/_;/‘:i"ﬁ@uﬂftﬁg. AU i1 IJ«?'/"-"’ A
statement of affairs for the year ended on 31-12-2016 is as under. #9115&;:31-12—201 BJL-«(C’-'V'ILL::.«Mruiﬁf
Assets b2l Rs. Liabilities  Ul/ss3 Rs.
Land oD 120000 | Creditors o777 |18000
Building = 10000 Loan S/ 30000
Furniture S 10000 Other Liabilities /15345 | 10000
Stock Jb 5000
Debtors Sy ~ |5000
Cash S 6000
Total Wiz | 156000  |Total Wi 156000

His begining capital is Rs.20000. He introduced additional capitali _*L:@%-!JsﬂUOfL/&_/?LJF%%—Jizoﬂoﬂfl'/é'j‘:IE'/L,”
Rs.5000. Depreciation on building and furniture is $%. Drawing Rs.5000.. %%5;50000%;4_.{_5%JM#JE);:IJJL :
Required:. Work out profit or loss for the year 2016. LS B 2016 L il

1

|



5. Below is given the receipts and payments summary of Friends Football dw;yfgdlfé_.hd_.n}‘? 2017931 5

Club for the year ended 31 St December 2017. qLJJE/JJJu’EU}‘cHJJIU}JﬁJJ
Receipts JU Rs. ||Payments ULELI |Rs.
Balance b/d LgLa 8000 ||General Expenses =lkL7icl  |3000
Subscription e k2 8150 ||Salaries & wages (L2Lsit¥ |2750
Membership fee  Uoedy 1250 ||Furniture 7 4000
Entrance fee ALkl 1200 ||Rent & Taxes 2Lt/ 2500
Interest on securities s UPE 900 | |Printing L 620
Misc. Receipts  UU»J > 250 Repairs =7 750

Balance c/d L 6130
Total ol 19750| | Total R 19750
Other information is as under: | _..::.J’ ;Cz:.«t:"",d

_i_:JZUUé/._zLaL?ir'LPIJUI._JF; 1
- 21750052t
& 1/5008 1;:-',’;/-"') 3

1. General expenses outstanding Rs.200
2. Subscription in arrear Rs.1750
3. Depreciation on furniture Rs.500.
4. Salaries outstanding Rs.500. & _.-.J_sJSDDCJ}"L;’rﬁ:UI_JI- 4
Required: Prepare income and expenditure account of the club. U L--LJ’ELH,?-‘:(}JIB’J sl

6. On 15 March, 2015, Ali Ahmed consigned cloth to the value of Rs.65000 1} ¥/ J_+,/650004#10% 2o1az,.¢f
at cost to Afzal & Sons who accepted a 3 months draft Rs.15000. A6l 69150004 > Wl lal !
Ali Ahmed paid Rs.3500 as freight and Rs.1500 as insurance. On 30" r.ﬂzi,.n_msnom rfe._ -;350::13__;1& s
September 2015, Afzal & Sons informed that 80% of the goods had LJJBZGUDHJ/’J 1423804 Fx J"l
been sold for Rs.82000 and that the selling expenses were Rs.5000. gj{ MLQIJ?ILLE.!}A-JJSDDD/J L's'o( CU-HZ:/J
Afzal & Sons were entitled to a commission at the rate of 10% on sale. _lfL;;)’ E’u""{.xﬁ"'iﬂfu?_!ff/‘yld’d i
Required: Prepare consignment account and necessary ledger in d;!fpﬂj Jj’lgﬁ.u)) I.f,.,WIFU'}'JI. u:u"‘
the books of Ali Ahmed. . U

7. A, B and C are partners in a firm. They agreed to runh the business on é_:.r .L/GL,:;QEQ'J_ Sousrosit St /:/éi[‘)‘_ﬁC;:fBrA 7

the following terms and conditions. —Jrewinelly
1. They will introduce a capital of Rs.50,000/=, u"JLuK.a__.uSUDUU;:IL:J4DUDU:¢_+JJSD{JUD_« /LCJ:chA %
Rs.40,000/= and Rs.30,000/= respectively. _.Ziu’ 6 L

Interest on capital and drawings will be charged at the rate of 5%. _&_W:rS%xﬂ:&lsa_lpdiﬁé‘;”dw} ,f ey 2
During the year Mr.A withdrew Rs.10,000/= _.;‘__[}!’44{.._.3;1GUDDLJEH{LFHUMJLJL' 3

. Mr.B received a salary of Rs.500/= per month. Y ?;:..-HL?L.#LL.&_.!JSDULB 4
. Profit during the year 2011 was earned Rs.100,000/=. _LU'Cfi_u‘IUUDD[]uIJucC.rZ{J'I1der.’....-rL:;K 5

Required:. Prepare profit & loss A/C and Partners L.L/éiuub.ﬂ.ulu" i:»._;ss’i(uw:(f b’rjABG “is
Capital Accounts, WIS bub-uf-';'
* 8. Muneeb purchased a second hand machinary for Rs.116000 ¢5f~f‘dlfui'a._wi,r..lri H..f é’}";z{]'iziuﬁlfa._._.,» .8

,,ULI_.;.@;_,»;JJu_myzoélgr $x s

o A W N

on 1% June 2014. He spent Rs.20000 on its overhauling. Depriciation

is written off @20% p.a on original cost. On 30th June 2017 the
machinary was found to be unsuitable and sold for Rs.50000.

Required: Prepare Machinary Account from 2014 to 2017. assuming

~ st
accounts are closed on 317 December every year.

A 201?uﬁ30..1frf_—1’ 20w
_UﬁL.:f-...c?:fukd..;ufEUé",:__U‘,jL;dLH,L,

Prt b F 201762014 2400 sler

_L,r’d_.t”y:';"mg,]bf/n’..lpcrz_.rd../

9. Irfan and company Lid. was formed with capital of Rs.800000/= divided
into 8000 shares of Rs.100 each. The company issued 5000 shares.
Applications of 6000 shares were received No allotment was made to
1000 applicants, and their application money was refunded.

5000 shares alloted to applicants.

U BODDA %L _+/B00000G 2icsif .9
L,st't,faﬂ?f)ﬂDDd_.dhj:L,f(bLLf (}d_sﬂ'DDAT
UE13,51000/=-f s 185600080 7 &

J”a?5DUUiu_‘f{{;/ﬁlmfu:ﬁﬁumﬁgu
ééﬁ/&ﬂh@fﬁ:ylﬁﬂ
Required: Pass the necessary Journal entries, and perpare a balance sheet. _J_/fr,lg".:..fu"kuquu_@ ﬁUzdﬂF_:.f#f
688-012-A-
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Inter - (Part-11)-A-2022

PaperCode | 8 | 7 [0 | 7

Roll No. S 37 M (For All Sessions)

(Objective Type d";/“)

‘ﬂfjbﬁf’dl’} d’& f
Marks:20 Time:30 Minutes 20/
szl LA W 2 ;/J,.,Tf_,m‘ﬁwiffnmc,a,;x_-,yz.-m'.ﬁdnm_éz,‘ésqum"y{;’u;.-,yzéc.mxrl?:u

AL :.ung uj-&/r/lu( s 35 e (S Us LD sIC, B, A

NOTE: Write answers to the questions on objective answer sheet provided. four possible answers A,B,C & D to each question are give. which answer
you consider correct, fill the corresponding circle A,B,C or D given in front of each question with marker or pen ink on the answer sheet provided.

"9!:'(9&{4_@}(!‘//:);/:[«3/ 1.1

Principles of Accounting

Lo 308 =ds

1.1.  Account sale is sent by:
(A) Seller 1(:)’:/' (B) Buyer /l,.&,]' (c) Consignee o J( Y (6»)) Consignor J’ /
2. The Liability of partner in partnership is: :q_djl;,»id/ﬂ;,‘a?uf:ﬁ 72
(A)  Unlimited 5t (B) Limited s
(C) Limited upto capital 5548 Fur J b7 (D)  Middle &L/u
3. Shares issued at printed price is called: LSl fyedoilnz 3
(A)  Atpar /,L}‘ ! (B) Atdiscount /,J}( (C) Atpremium 4(‘,;L? (D) Atloss 4@&'5
4. Maximum partners in banking business are: Wiy ol el IS AN S 4
(A) Twenty (2 (B) Fifty Ulg (©)  Seven =l (D) Ten >
5. Company created by special order of king is called: :q_JM:‘_Jng(‘GJLfL,Li:Wf‘,d 5
(A) Public company g:r {4 (B) Private company g:-r (f
(C) Chartered company (_'fv'r;‘/‘/lg (D) Statutory company u’?f 4}{!’
6. A company is formed by: :4,8(_7(,(('5'4/5& ____________ gﬁ( 6
(A) Directors s& (B) Promoters @t (C) Shareholders s> (D) Accountant il
7. Debenture holders are: p s Z T
(A) Debtors u‘:f’ (B) Creditors ali(f /. (C) Owners WHl (D) Promoters ol
8. [IfasharcofRs. 10 is issued at 10% premium then issue ZJﬂdJu‘i;L[/d/?/ff/ 10%etsinbesinofSS1 -8
price of share will be: S ¥
(A) Rs.9 (B) Rs.10 (© Rs.11 (D) Rs.12
9. Insingle entry system it is not possible to prepare: tan uﬁ bbe e )é(lb/;/fl -9
(A) Balance sheet ,AI:JLJ' Is ®) Trading account :Uﬁ/?
(C) Trial balance .»L'LE,J(? (7 (D)  Profit & loss account :U/ul.a'i";(‘j
10. Insingle entry system statement of assets and liabilities is called: :§..E'U-zful;f fo&elu:l.:&:ﬁ‘_)fr"/ g /‘-Ug’ .10
(A)  Profit & loss account :U/ULJ";(‘? (®) Ledger ;lfuf
(C) Statement of affairs -:lleylP,f (D)  Trial balance '-‘Jll/‘
11. Net worth of an organization means excess of its assets over: :ganc..:«lgﬁlﬂﬂG&JIQLU‘JGJLA;IJK 11
(A) Liabilities Yy 205 (B) Cash $w (C) Expenses =blf! (D) Income G;T
12.  Endowment Fund is: :‘4_1'5&;371 12
(A) Expense &/ (B) Income (4T (C) Liability (Suls0s5 (D) Asset 2t
13. Subscription relating to current year: :‘adr‘:d:;‘.;c.k@‘f.dlxuif 13
(A)  Asset 2t (B) Income 4T (C) Expense &7 (D) Liability (3.3
14. Non-Trading concern prepare: :.:'_t'fzgul;l JJU" S 14
(A) Profit & loss account s (L ;8; (B) Ledger SUE
(C) Trading account ;Ifa/.b’ (D) Income & Expenditure account =l 7 UL')JTgﬂ;[
15. Income and expenditure account is: :Q:U/(ol_pl]'lulu,of 15
(A) Nominal account ;lard' J (B) Real account ;U/J:y
(C) Personal account ;bru‘; (D) Cashaccount ;U/ U yl
16. Which Asset s not depreciable? e orpststigd 16
(A) Building =t (B) Machinery (§2* (© Land o2 (D) Fumiture %}
17. Amount of Assets may rise or fall due to: :‘aaxu%g{(ﬂazbrolgﬁf‘l 17
(A) Depreciation (s  (B) Fluctuation Jas (C) Depletion Y274 (D) Wear & Tear i#cld
18.  The value of Assets at the end of working life is called: e Qb d el st Sos)e b 18
(A) Market value = Sk (B) Scrap value = J i
(C) Bookvalue ol L}l:'/ (D) Cash value =l
19. Consignee is: e IS s 19
(A) Buyer J47 (B) Seller s/ (©) Agent oV (D) Owner M
20. The person to whom the goods are dispatched for sale is called: :q_b‘ll;v(unal_pu’?»_(_}lé. L:)J/’fu)'fu 20
(A) Consignee S / (B) Debtor s (C)  Consignor J Va (D) Creditor o5 7/
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NOTE: Write answers to the questions on objective answer sheet provided. four possible answers A,B,C & D to each question are give. which answer
you consider correct, fill the corresponding circle A,B,C or D given in front of each question with marker or pen ink on the answer sheet provided.

Principles of Accounting (Objective Type s*)

Lor 30 0 s

1.1. The value of Assets at the end of working life is called: !q_glk(h:—gtfalyﬁlf‘lpfédvﬁdb’fldﬁ' 1.1
(A) Market value =d (Sl (B) Scrap value = pig
(C) Book value od Jo (D) Cashvalue N
2. Consignee is: :4‘_,,)!‘)”/ o)
(A) Buyer Jx/ (B) Seller /357 (C)  Agent o5V (D) Owner i
3. The person to whom the goods are dispatched for sale is called: :<;_t‘U-;v( Uyzalgu’.{' 4:14_ [_:);/:( g \f; 0 .3
(A) Consignee I J s (B) Debtor /s Y (C) Consignor g Va (D) Creditor o7/}
4. Accountsale is sent by: "c‘-t'loisfc.u)&f(c»;/:u/ 4
(A) Seller /K=5s/ (B) Buyer Jx7 (¢) Consignee JJ / (D) Consignor J” »
5. The Liability of partner in partnership is: e s s oo fSf 5
(A) Unlimited 398 i (B) Limited s
(C) Limited upto capital 155 Fw J Y (D)  Middle (3_[(‘1)
6. Shares issued at printed price is called: :Lnd/(_p/'.:af uﬁ(yu:?u‘i .6
(A) Atpar /,L)‘ f (B) Atdiscount J,G)‘f (C) Atpremium 48l'/ (D) Atloss /.,L'Ju;;
7. Maximum partners in banking business are: W st nslic ol A K S T
(A) Twenty 2 (B) Fifty Ul (©) Seven =\ (D) Ten s
8. Company created by special order ofking is called: :‘Lalk(‘a(}lggffﬁ'.:‘;ﬁrgéo@;@ﬁﬁfﬁl .8
(A) Public company u'{ il (B) Private company o g
(€) Chartered company 5{5}/% (D) Statutory company w T
9. A company is formed by: :‘Lakd?ﬁ'éﬁé: ____________ u':r .9
(A) Directors s\ (B) Promoters il (C)  Shareholders s> (D) Accountant *3¢I
10. Debenture holders are: s 210
(A) Debtors gf;}‘ (B) Creditors Ni.gf ; (C) Owners HlL (D) Promoters ol
11. If:a share of Rs. }0 is issued at 10% premium then issue 3(;!?-"»2&1")7;&{/((5/?/(5:/ 1 O%GIJ;MKL’/IOJ’,/! 11
price of share will be: v *
(A) Rs9 (B) Rs.10 (© Rs.11 (D) Rs.12
12.  Insingle entry system it is not possible to prepare: :rnuﬁiuétb:gﬁ.zl)d:rw}gﬂ A2
(A) Balance sheet ,.AI:J LJ" 7] (B) Trading account ;I[J,.lf"
(C) Trial balance ,»L'Ll‘igu‘j LT (D)  Profit & loss account ;u/uuﬁ,éj
13. Insingle entry system statement of assets and liabilities is called: :9.[:'11&1!;’f K l2loslelo 2612 (‘"/ d /‘-’IJ{” .13
(A)  Profit & loss account ,-u’uu»‘,(f" (B) Ledger P
(C) Statement of affairs ;.llvb»g/b’f (D)  Trial balance U’EJ{’/
14. Net worth of an organization means excess of its assets over: :‘cancalgi‘f'l,:db'éu lc;!l.u‘J BJ g/blu/ .14
(A) Liabilities Uy ss3 (B) Cash (i (C) Expenses =l (D) Income (T
15. Endowment Fund is: e ekl 15
(A) Expense &/ (B) Income (7 (C) Liability (sl (D) Asset 2t
16. Subscription relating to current year: :§.d:‘:&2c_};l3£dlruzr .16
(A)  Asset 2t (B) Income 4T (C) Expense &/ (D) Liability (§sts.s
17. Non-Trading concern prepare: :.;..b'/z_t}'ublazl_f /;' 17
(A) Profit & loss account =l L ,8; (B) Ledger =W
(C) Trading account Pray (D) Income & Expenditure account el AssTps o
18. Income and expenditure account is: :c‘:_:brb/calgljw!u,af 18
(A) Nominal account S8 (B) Real account W
(C) Personal account = u‘; (D) Cashaccount :U/d)&;
19. Which Asset is not depreciable? ?‘LJ»’}J E‘l:,et"'!l./uf .19
(A) Building =Af (B) Machinery (f2* (C) Land ¢ (D) Fumiture %}
20. Amount of Assets may rise or fall due to: Z‘LGMU%JJQEJ.;@,’;H 20
(A) Depreciation J»’/ (B) Fluctuation (J4s (C) Depletion o=k b (D) Wear & Tear s}y
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Section-I 2x10 =20 Jit 2o

2. Write short Answers of any five parts from the following: 2x§=10 _z& 7 ez L1 é&c.éf eLdits 2

iii.

iv.

vi.
vii.

viii.

vi.
vii.

viii.

Define single entry system.

Is statement of affairs is substitution of balance sheet? Discuss

Explain consignee.

Explain consignment.

What is indirect expense on consignment?

Explain receipt & payment account.

What is meant by surplus?

Define subscription.

Write short Answers of any five parts from the following:

Compare the depreciation and depletion.

ii. Define the depreciable Assets.
iii. Describe any four characteristics of joint sector company.

iv. Explain separate legal entity ofjoint stock company.

Define holding company.

Explain unlimited liability in partnership.
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When the revaluation of Assets and liabilities is made? Describe. ?C‘_H_agb.fr Sl uguJ elplssslele 26107 u_’/ Wk

Define nominal partner in partnership.

Section-II

Note: Attempt any three questions from the following.

Nayyab keeps his books under single entry system. Her Financial
information are given below. Prepare her profit or Loss

-.éhé’/.;tf/byu‘ﬁuu:-‘/’/‘
(535

LIS etk e e Lt ind

AP S e dsd £ P U

Srart S outds

20x 3 =60

statement.
—— i 01-0 11{ ;.2001 31-1 12{5.2001

Cash S 1000 3000
bank & 3000 2000
Stock 025 2000 1900
Deborts S 850 1400
Creditors o7/ 2200 2900
Fumiture %/ 180 150

Machinery ~ (§ #* 1500 2700

Additional information:-

(i) Depreciation on Machinery 5%
(ii) Drawing of Nayyab Rs. 1200.
(iii) Fresh capital Rs. 500.
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From the following receipts and payments accounts of crown
club, prepare an income and Expenditure account for the year
ended 2019, 31" December.

L:La(éu;,:?l:lﬁluﬁy’)d_':'@J;JJuflf

UK Fs)aT 12019, 531

Receipts U5 | Rs Payments ULl | Rs
Balance b/d 70z [ 130 | Rates =1 | 2500
Entrance Fee S b1 | 210 Stationery 2 | 3950
Subscription =losz | 11010 | Building =\ | 2500
Lockers Rent /60 300 | Repairs S| 300
Miscellaneous Fee u‘-JJ/—’ 1660 Balance c/d \fj'u'b” 4060
Total J [ 13310 | Total J | 13310

The following further information are available.

(i) Locker rent for the current year is Rs. 30 unpaid.
(ii) Rates are still pending Rs. 620 for this year.
(iii) Subscription outstanding for the current year Rs. 210.

Hussain Brothers purchased machinery for Rs. 500,000 on 1*
January 2016. Rs. 100,000 was spend on its installation. Prepare
machinery account for first 5 Years if depreciation is charged at
10% p.a by diminishing balance method.

Mr. Ali sent 100 fans to Mr. Taqi on consignment basis. Ali has
spent Rs. 300 on packing. Cost of one fan is Rs. 2500. Tagi has
sent bank draft of Rs. 55000 as advance to Ali Tagi spent Rs.300
as freight and Rs.4000 as fare. Tagi sold all fains for Rs.3500
each. Taqi is entitled to 10 Commission on sales. Taqi settled
his account.

Required: Pass journal entries in the book of Mr. Ali and prepare
consignment account.

Ali company has authorized capital of Rs.2000,000 divided in to
20,000 shares of Rs.100 each. On 15" Jan.2020 company issued

received applications for 6500 shares. 5000 shares were allotted
and excess money was refunded.
Required: Pass the Journal entries in the books of company and
also prepare balance sheet.
A and B are partners in a firm. Partnership deed as follows:
6) They will introduce a capital of Rs. 50,000 and 40,000
respectively.
(ii) Interest on capital will be charged @ 5%.
(iii) During the year Mr. A withdrew Rs. 10.000.
(iv) Mr. B received a salary of Rs. 500 per month.
(v) Profit during the year 2021 was earned Rs.100,000.
(vi) Remaining profit will be distributed equally.
Required: Profit and Loss appropriation account and capital
accounts under fluctuating method.
688-12-S-4280
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